UGC NET 2021 Philosophy

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvufl # fSu s1u sifds] @ meR U gosll & 3= difsme @

forgoiferRaa vl fdpil Rrafdencrn 3 31 - 31l ferll 3 (T-u) dRRA reAa™] oI YfeIord scol 3R 3EATUd] dal eATTUPI3i @ ourd
@I YFdd ol 3 faeafdencry i et sieamaml i e 1600 3 wrvil 3 1 o1 sifws! @ R R Yol 1-5 ab D IR S &

31eMuehl oI faeRIar d§cot ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerer areemuast B gferoradr (% )sremuds itz sre=mftrpsit bt gfererdar
A
B
o
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

ferer=r-C 3 sremaed] I et A, fawR-D siiz faeRr-A 3 aAfdafera su A sreanftopisii & aget e @1 gferera 3 ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers




Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifdst @ 3R U gesll @ 3a= difsme @

forrarferRaa 1rvfl fp1l feraferenert 3 sremer - 3rcmT eIl 3 (T-uw) PRIz srearuwm] @1 gferord sl 3R [eATUD] qell 3reATfiIsi & 3rofurd
Dl yqd @il 8 faeafienert 3 qe sreamael & i 1600 & ARl # 621 3R sifds! @ MR R Yool 1-5 dp D IR S :

31eATUD] DI fASRIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamuast &t yfereraar (% )siearaw siiz sreenfr1ail S Rt
A
B
C
D
E
F

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

fererr-F 3 gt srezmaepl &b s SiiR farerI-A aen faerRr-B 3 wifdafera su A sreamuen] 6t iz o &4 fopdon siar 3 ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]

1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arvil 3 U o1 sifost & smem uz gosil @ 3ar i :

forarferRaa rvfl fp1 feraferenert 3 sremer - 3rcmT eIl 3 (T-uws) PRIz srearuwm] @1 gfererd dcel 3R [eATUD] del 3reATfdIsii & 3ro[urd
Dl yqd @il 8 faeafdener 3 @et el &l in 1600 & ARl 3 621 3R Sifps] @ MR R Yool 1-5 dd D IR S :



31EATUD] DI fARIaR dear :

frerr sreemaast Y yfreraar (% )sieamu st sieenfiriaii B g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

faerRr-F 3 sreanftrastsii b Jizean siik fawRr-C 3 sieamaat bl Jizen @ dka fovdetr siaz 3 ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aroft # fSu 51U sifws] @ smemR uz gesll @ 3a= difsme @

foreatferRaa 1rufl et feraferenert 3 sremer - sremT foreril 3 (T-uw) PRia sreamu®! @1 gfererd dcel 3R s[eATUD] eIl eATfieIsii & ofurd
@l yFgd ol 3 feeafdencrn 3 @et sieamaml &f e 1600 3 Arvil 3 R oR) sifds! @ R R Yool 1-5 b D IR S &

31EATUD] DI fARIaR dear :

fRrerr reemuast 1 yfereraan (% )sieama st sieenfRriaii Bt g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?



forafiencrr 3 sreamaamt &t aer Iz Rl 3 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
® 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifds] @ smeR U gesll @ 3az difsme @

forrarferRaa 1rufl fp=1l feraferenert 3 srerer - 3rcrT eIl 3 (T-uw) PRixa srearuwm] @1 gfererd s 3R [eATUD] el 3reATfieIsii & sro[urd
@l yqd @il 8 faeafdener 3 @et sreamael & i 1600 & ARl & 621 3R sifos! @ MR R Yool 1-5 b D IR S :

31eAUD] DI fASRIaR dear :
Rrerr preamuast &t yfererar (% )siearaw aiiz sl S gt
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

fererr-E 3 srenftrepisii &bl Fizen @ gfererd o siopurd fRrerr-D 3 sreamaosl &t e o1 Reaen 3 ?
[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4. 5:3

[Option ID = 14520]
Correct Answer :-
e 5:9

[Option ID = 14517]



Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

U IERTUD HRI UIS D Yl & Sikrel Ydfer & ufaderoefierar sterar sia=rar oot fop21 su 3 Siren strar 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
Thinking curriculum/fRider urgeicpa [Option ID = 14521]

Instructional variety/aifdiferes fafderar [Option ID = 14522]

Comprehension/zmtst [Option ID = 14523]

Procedural knowledge/gfégziicares siret [Option ID = 14524]

A WN -

Correct Answer :-

e Thinking curriculum/Rider urgerapa [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

R IRDR D 181 HGIeRI gRI Fanferd wa.siLal. 2. (MOOCs) ygrot @20l 3q =i (SWAYAM) sia & 1= ol dottol (RBsimsfoier) @ fere
fopaer agels 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]

1. 2 Quadrants/2 agsfa [Option ID = 14525]

2. 4 Quadrants/4 aqgefe [Option ID = 14526]

3. 6 Quadrants/6 aqgefa [Option ID = 14527]
4. 8 Quadrants/8 agefe [Option ID = 14528]

Correct Answer :-
® 2 Quadrants/2 agefm [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

il Jf Dol fdu sre 3 ¢
Dl - | : R Ef sraren @ Fu A 4 ad 6l 39 D arerd I fpmefia Fafar & Wil acd U Fere o= 3id 3

@l - |l : Jaensii & yfd Aafe vw dicid cRIdaR €161 ofdl SdI, dl 3cYRUI TR DaHsIR Bldl 3 3R 3fod 3 sdell BR Sidr 3 &b el I Yol:
Ieyfea ordl fopan s Arar 3R a6 guizu A fagsy 8 smar 3

SURITb Dol D 3Iclid H, ofld U s1w iyl 3 A Jt IR BI TwRIel HIferw :
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

1. Both Statement | and Statement Il are correct/@perm | 3iiz |l Sieit 2@t & [Option ID = 14529]

2. Both Statement | and Statement Il are incorrect/aeret | 3z || Sl sleta & [Option ID = 14530]

3. Statement | is correct but Statement Il is incorrect/werwr | 3@t 8, fbog @eret |l siera & [Option ID = 14531]
4. Statement | is incorrect but Statement Il is correct/@emt | swer 8, fboq @eret |l 3t & [Option ID = 14532]

Correct Answer :-
e Both Statement | and Statement Il are correct/@emr | 3iiz | 2leif 38t @ [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills Ill. Explicit Memory

D. Own experiences |IV. Episodic Memory
Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgafera Hifste ¢

Rxet -1 Rxeht -l

(aif¥eea @1 segfor el deq) (Ffer gor)

A. Aot |, siafoifda gfer
B. 3rIdet Il. orifaftrs Fgfa




C. Tofiler wioret (i Roc) Ill. goerep Fggfer

D. sircatopsia IV. nBre Fgfer
il feu o1u faasedl 3 A A8 3R gforo :

[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll,C-1,D- Il [Option ID = 14533]
A-1l,B-1,C-1l,D - IV [Option ID = 14534]
A-1,B-1I,C-1V, D - Ill [Option ID = 14535]
A-1,B -1V, C-1ll, D - [Option ID = 14536]

A w N =

Correct Answer :-
e A-IV,B-Ill,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:
RIGERAIET 3893l @ fé1e IHSATGIcAD &I 3 ol IL9AT I HdHIferee oo strer 3 :

A. Jcaiwor

B. e forerizur e

C. 3ast

D. remefar

E. sior

off fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/aaa A, B, C

[Option ID = 14537]

2. B, Cand D only/@ae B, C, D
[Option ID = 14538]

3. A, Cand Eonly/aaa A, C, E

[Option ID = 14539]
4. C,Dand Eonly/aaa C, D, E

[Option ID = 14540]

Correct Answer :-
e A BandConly/@ac A, B, C
[Option ID = 14537]
6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

onter @ SIRIGl SId &3 MATRAHD i1 difeads zffedlvil A g 3 3z YeoiRr ael uz earer dfoga wd 3 dal A forsoifeiRaa 3 A o= war siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/am3tars [Option ID = 14541]

2. Ethnomethodology/gsuferfdrsirer [Option ID = 14542]

3. Constructionism/2izdaeicamdar [Option ID = 14543]

4. Positivism/forzrmcaaar [Option ID = 14544]

Correct Answer :-

e Feminism/amiarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:



fop2t uf¥acen & Jder 3 BRI B PR oNer 3 Riftoer UGeRN, 31¢RIeT ARl FeureiiRI Siiz SRRl frcRIRil & JiRilsiel Bt wad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

Triangulation/fggster [Option ID = 14545]

Content analysis/fawer Jmsf 3wt [Option ID = 14546]
Corpus/@mrda [Option ID = 14547]

Mediation/siezrzerar [Option ID = 14548]

A W N -

Correct Answer :-
e Triangulation/feprstior [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bac? feasyur & dogp uglt @ fere wedl @ Adiaw &I usare @3 :

A. Je3id ARTA D gRAD DIcid 3 VIl DI APIbd formrct

B. rside @ ka1 &l svren a3

C. ore @1 Arrwd (T) gra o3

D. gA® oIcid @ AR1wd @ (T) D ol A Renfra o3

il fou s1e fraseul 9 3 & Ia= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

. A, C, D, B [Option ID = 14549]
C, B, A, D [Option ID = 14550]
B, A, C, D [Option ID = 14551]
B, C, A, D [Option ID = 14552]

1
2. ,
3.

4. B,C,

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il
A . I. Number of individual items are developed into
Arbitrary e .

a test which is given to a group of respondents
approach
B.
Consensus |Il. Scale is developed on an ad-hoc basis
approach
C. Iltem Ill. Chosen on the basis of their conforming to

/Analysis  |some ranking of items with ascending and
approach [descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

Lt -l oot 3 -1l A Fgafera HifSie :

et -1 et -1l
A. arelRes ||, sicIe1-31cTe1 AGT &I I3 @) v ure A fashha s sirar 3
efcmroT RRY IacIansil & s ot & sirar 3
B. srdaara
Il. acet taral @l faolR1a fosan S
dcel e uR SIIeI 3




C. 3¢ freaduvr |l 3mRIEE siiR sreRId) et 91ftp Afda o sicl &l gJufiasur
eftcmIur (bI IGTHUAT D IMIEMR UR TRIfold

D. it IV. ferae 3 onfdrer w0t D fere gofl 31 ISt DI FeAidol DI D
CatreTr fere forutirest o1 toter

il 3w o1 el 3 A At I gfom ©

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-lILB-1,C-1,D-IV

[Option ID = 14553]
2. A-1l,B-1V,C-1,D-1l

[Option ID = 14554]
3.A-1,B-1l,C-1I,D-1IV

[Option ID = 14555]
4. A-IV,B-1,C-1I,D-1I

[Option ID = 14556]

Correct Answer :-
e A-IIlbB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

ofi <1 eror Ru sre 3 :

werd - | : fgamenst Fizean yprredt o1 smens 2 3

@l - |l : fgsmemst eI, gorIc Siis @ Aol &l 3ldr & RIarT saa o5 former bl Az &
JURITP DYoll B 3l H, ofll [Su s1u fadmeul 3 A W8 3= @1 T=I6l HifSte ©

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

1. Both Statement | and Statement Il are true/@emwt | aiiz |l Sleil A 8 [Option ID = 14557]

2. Both Statement | and Statement Il are false/a@erwt | 8ii2 |l Gleil sRicr & [Option ID = 14558]

3. Statement | is true but Statement Il is false/@emwr | 31 8, fdpoq weret || sRicr 8 [Option ID = 14559]
4. Statement | is false but Statement |l is true/wesel | sRIcI 8 , fboq el |l 3=r & [Option ID = 14560]

Correct Answer :-
e Both Statement | and Statement Il are true/@erer | iz 1 Siail 31 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

ToRIdl DI AHIET6I Dol D e v e D sfiar 31ferp A sifere seiluanf¥e 3ICTe-ygIel 36180T 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 2iuur a1 [Option ID = 14561]

. Horizontal communication/giferst 2iquur @1 [Option ID = 14562]
. Risk communication/sif3asr 2iquur a1 [Option ID = 14563]

. Personal communication/dfepe 2iuur a1 [Option ID = 14564]

A wWw N -

Correct Answer :-
e Vertical communication/3eafer 2iuur @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:



forgatferRaa 3 A fopadbl usdrel aiftrs AYWUT BI9rT & HU 3 DI Sl 3

A. M@MEIDB HIHT BT AT

B. smoyfgar

C. bIsd® @ oicdl DI Yraeist

D. =i &l 9 ot

E. FdioRIca® 91t &1 GRIBT

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, B and C only/dact A, B 3iiz C [Option ID = 14565]
. B, Cand D only/daea B, C siiz D [Option ID = 14566]
. C, D andE only/a3ae C, D siiz E [Option ID = 14567]
. B, Cand E only/aac B, C siiz E [Option ID = 14568]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement II: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 ¢

@erel - | | ADID UIdI, 3D HIUT DT MER BXcdl 3

el - |l : Sr-aifRies JAd>dl & sraet e sref Jxar &
SWRIFP Pl @ 3Mrelld i, ofld 3w s1e Ripedl 3 A A8l Iar @I M6t HifSte :
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14569]

Both Statement | and Statement Il are false/@emt | 3iiz |1 Gloil 3Rt & [Option ID = 14570]
Statement | is true but Statement Il is false/erme1 | A 8 , o @eret |l sRir & [Option ID = 14571]
Statement | is false but Statement |l is true/mepol | sRI=I € , fbog el |l A= & [Option ID = 14572]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/epr | 3l |l Gleil 21 & [Option ID = 14569]

14) Identify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AT &t YR B A8l G b usare o3 ©

A. 333 e

B. Fisirera 9jac

C. sru9ru gjacn

D. wwa ¥is gzaent

oA Ry s1e Riecdl # A & a2 goi

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

1. A, B, C, D [Option ID = 14573]
2. B, C, D, A [Option ID = 14574]
3. D, C, B, A [Option ID = 14575]
4. C, D, A, B [Option ID = 14576]

Correct Answer :-
e A, B, C, D [Option ID = 14573]



15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics Ill. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rxeht -1 il

(3ot 9)fdriT) (faroramd)

A. aiffdes |. Iiguor Faof

B. Fuof farsier Il. sl & dta Fguor
C. srelgza Ill. Fid>di &I e

D. Fiofers IV. sreif 2 ddfeEa

il fou s1e frpeul 3 ¥ A8 IR gforw ©
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C-1V, D - lll [Option ID = 14577]
A-1ll,B-11,C-1,D- IV [Option ID = 14578]
A-1V,B-1Il,C-1l, D - | [Option ID = 14579]
A-1,B-1V,C-1ll, D - Il [Option ID = 14580]

A W N -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5, 3.5, ___

8, 6, 4.5, 3.5 @ 3IrgIayd i 3HICH Dlol-AT 3D BPI ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

XD urt Y @I a1 31611 3 3R Z & uri X oI @I 3ell 3 A il & ur Alafera su A 613 Z, Y sk X @ urd a@gier: fpaol 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A W N -

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

TP BICI A v AP @l [$¥rd gu @iddr of @al, ds A arar &l 9¢l @I 11 3 3 Alep A oldar oI g fyear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
Nephew/ sicfisir [Option ID = 14589]

Cousin/adRr1 a8 (pfeter) [Option ID = 14590]

Uncle/arar [Option ID = 14591]

Son/gq [Option ID = 14592]

AW N =

Correct Answer :-
e Nephew/sicftsr [Option ID = 14589]



19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@l - | : b Bieic # el Slar a1 &l frere &I 33, de Ht g A 5° el 96 Sl 3

el - | : afd fiere sl @t &t Jgzat v & Rrerfer 3 3mE) agont 9s wcdl 3 Al el Iyt 64 Bioic @G v, g A ficith
SWRITP Dol D 3MIelld , ofld 3w s1e Ripedl 3 A A8l Iar I a6t HifSte :

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

1. Both Statement | and Statement Il are true/eret | 3iiz || Sloil 31 & [Option ID = 14593]

2. Both Statement | and Statement Il are false/a@emt | 3ii2 |l Gleil sRicr & [Option ID = 14594]

3. Statement | is true but Statement Il is false/@ermer | 3 @ , fboq et |l spRier & [Option ID = 14595]
4. Statement | is false but Statement |l is true/mepol | srRI=I € , fboq el || A= & [Option ID = 14596]

Correct Answer :-
e Both Statement | and Statement Il are true/epr | aiz |l Gleil 21 & [Option ID = 14593]

20) Consider the following statements:

A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 14500 at a loss of 20%. The cost price of the mobile is 18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choose the correct answer from the options given below:

frafeRad siftmy | faar &1

A. U@ gR H 1 718 46% DI ¢, dF aR H &1 715 10%, 20% 3R 25% Fel & s 8

B. U HIFTSd @l 20% @1 g1 W 14500 % H &4l [l &, Hislgd &l AFld Jod 18225 % &
D. e 81, g Tea &1 L8 e 28% ©

el o e faeeal & 9 wEl I T :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/dsaet A aiiz B [Option ID = 14597]

2. Band C only/daer B siiz C [Option ID = 14598]

3. Aand C only/@aet A siiz C [Option ID = 14599]

4. Aonly/dact A [Option ID = 14600]

Correct Answer :-
e A and B only/dact A siiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgatferiRaa 3 A Pdlol-AT AD S 3 Sl aftb @ faeardl siiz ufxiFeferl @ dia JAder oI =Ib ddar

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]
Argumentum and Baculum (force)/amefdics &s daqem (o1fep) [Option ID = 14601]

Argumentum ad Hominem (circumstantial)/smefdica vs aifdoa (uRRerfesio) [Option ID = 14602]
Argumentum ad Ignorantiam (ignorance)/simejdicar s ssaiifeRial (arstoiar) [Option ID = 14603]
Argumentum ad Verecundiam (authority)/smefdics esd¥gfSeret (Yfiipr) [Option ID = 14604]

A w N -

Correct Answer :-
e Argumentum and Baculum (force)/smjdicar 6s daetat (91fep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can



be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true

D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® araeil & fRRielt oot i Al "o e Aqacrar oifl 3 srica 3, i forFerfeRaa 3 2 fba1 @ o1 A8} Alen ST ADAr &
A. "9t G Aqern ' 3RTea &

B. "©® Wc Adcrdr & AcA 8

C. "l A6 FAcIa " Aca 3

D. "I A Hacrar oidl &' Aea &

ofia 3w a1 el 3 A A& a2 ol :

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

. Aand D only/@aet A siiz D [Option ID = 14605]
. A and B only/dact A siiz B [Option ID = 14606]

. B and C only/dact B siiz C [Option ID = 14607]
. Cand D only/d@aet C siiz D [Option ID = 14608]

A w N =

Correct Answer :-
® Aand D only/aqet A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

forraiferRaa wler-A1 e AdaraRT @ PR AR YBR B Jdl U A YIgd okl 3 :
it carardt sircar-farardt 8 3

sirea-frar Af3a o of cafes enffas ordl siar

sfere oFf oft enfifes cafep smurdt ol drar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |

[Option ID = 14609]
2. AEE - I

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]
Correct Answer :-
o AEE - |

[Option ID = 14609]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

St sfogal &1 el A ucrelf @ aR 3 SRl i ol & sfogal o sif¥dea genfora fown sitar & forsot 31 3 v Gt ¢
[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]



Anumana Pramana/ sigj#tel ysmt g1 [Option ID = 14613]
Sabda pramana/erss ygmor grer [Option ID = 14614]
Arthapatti Pramana/sferfufer grr [Option ID = 14615]
Upamana Pramana/3usirer ggmor gt [Option ID = 14616]

A W N -

Correct Answer :-
® Anumana Pramana/sfojerer gamur g1 [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Siiel D P31 Fasu DI 316 il Dl ASRIAT A Yrd ol s Sirar 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/ygigr [Option ID = 14617]

2. Inference/smmet [Option ID = 14618]

3. Word-testimony/grsg ggmr [Option ID = 14619]

4. Comparison/3usiret [Option ID = 14620]

Correct Answer :-
e Perception/yeiet [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI ATTcA3R o der i v gifeitre smfter Rrea &t fidruarsit 3 frafiRaa enfirer A 3

A. R $caBd - GRITDI @ BRI D S AYWT i srggafer Sar 3

B. 3318t gderel - YRIeT 3 38 Qiojmel 3R siivst @ 1w sidf¥es Jeist (312 © war) ot 3irdco Siiz arat At 3arsAT WR 3iist &t Yol gt
q $iSRUT

C. Jarerol FHsIcTon - ufefRr 3arsAl (so1ye a 3n3eyc 3arsA) I forifeld wen a ufdir Sarsil @ fére gRITPT sgfR1ell ®I HHIcTol

D. scvole uga - $eolc U= AAi D RRI Aud ygrel wel

il fou o1 fyaseul 3 21 & Fa= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/dsaet A, C siiz D [Option ID = 14621]
B, C and D only/dact B, C siiz D [Option ID = 14622]
A, B and C only/d@act A, B siiz C [Option ID = 14623]
A, B and D only/@aet A, B aiiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the I1l. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet




Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et | e -l
(fera=zoT) (Suged awmolildl us)
A. Siagdic Jollol @ ferg ciods ferell PR acs arss |
dd UT ST SIQ -
B.Rﬁtm@@'@ﬁm@'éﬁtﬁmﬁiﬁmam"- PP
(I IR ol dIcl BRICT
C. sceolc WR giifdic wd widie dol arct FRISIST ®I
Ill. war.él.uaruet.
D. &1 AfedRR Sl YRIBIPD! Bl $colc uR Sfarygic V. < ke

Bz g1 JAIerGil Dl YaRIA/S¥ ol D A Folidl 31

il fou a1e fypeul 3 A A IR gfom :

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-1IL,B-1V,C-1,D-1l

[Option ID = 14625]
2. A-1,B-1IV,C-1l,D-1ll

[Option ID = 14626]
3. A-IV,B-1I,C-1,D-1l

[Option ID = 14627]
4. A-11,B-1V,C-1I,D-1

[Option ID = 14628]

Correct Answer :-
e A-1ll,B-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

FN¥ST BARKE @ Ted @ i Holifpda R Rasd @ waf¥ea difse:

A. dtdtd

B. f1.3L. - 3o

C.s13

il f3u a1 fraseul 9 2 W& 3a= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A w N =

Correct Answer :-
e C, B, A[Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement IlI: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

oflar S1 averet feu s1e 3 ¢



@erel - | @ v sifaefest Rivear aftdzcar @l forafoqa @ear 3, 3iik AR 3fik YRR AR DI Mol BT &
@l - |l : v simfesr Rizcar $edic ValA Yglol @l &

SWRIFP Pcll D 3MIelld #, ofld 3w 31w el 3 A A8l Iar @I wrI6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/aserwr | aiiz |l Sioit 3er & [Option ID = 14633]

Both Statement | and Statement Il are false/@sermr | 3iiz || Sraif sRicr & [Option ID = 14634]
Statement | is true but Statement Il is false/@emel | a1 @ , fpoq @eret |l sRIr & [Option ID = 14635]
Statement | is false but Statement Il is true/memwr | sRicI & , fboqg et || A= & [Option ID = 14636]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Glell 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?
forgatifepa 31 A Dol WY YIS, (et Yok $ecxwA) aced & Sl ag famedl 3 A v @I golol A YT o= sirar

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
Scroll bar/¥®fet @z [Option ID = 14637]

Push button/ger acat [Option ID = 14638]

Progress bar/q@)a1 arz [Option ID = 14639]

Radio button/3f:i scat [Option ID = 14640]

A W N -

Correct Answer :-
® Scroll bar/¥®fet @ [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgoiferRaa 3 3 Dlol-AT ABT URT Jorell fAfpUT Ysiiae! @5 BRI o1&l aXr & ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierctt oiter [Option ID = 14641]

2. Melanoma/demsiian [Option ID = 14642]

3. Ocular damage/aiq sifer [Option ID = 14643]

4. Erythema/ca@fepar [Option ID = 14644]

Correct Answer :-
e Bronchitis/carorcft ofter [Option ID = 14641]

32) Match List | with List Il

List | List Il

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

R lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l
STl YgHl BT oot 31801 / RN
A. ABCIGIP PRD |. argsiidt sfiamg cr1 feafea o srufdre

B.sﬂmmmmﬁ".m, R errqail @ AP

Brafdrse
;_;ﬁsﬁa% 1. Sfiaroy, yshtary (Qdisien) ik scf
D. stet 3 getorofter IV. Stet 3 gerorofier arsee 3R Bizwe ddrd scnfe

ST fored RARIST bt arfer g e 3



Iaﬂﬁi%t!miﬁaa—cﬁ ﬁﬁaﬁmgﬂ%{q:

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-IV,C-1l,D-1

[Option ID = 14645]
2. A-IL,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-UL,B-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1I,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
e A-I,B-IV,C-1l,D-1I

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement II: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

il S werel fdu sre 3 ¢

Dol - | : afd:3a &bt spiforn fuarpar # gfy ssdiaur o1 ufyvma 3

@l - || : fRensdiavr 3 Siary oI geI B2 olis¢e Pl olisglslol 311 3 JUaR[ @ &
SWRITP Pl @ 3MIelld 3, ofld 3w s1u Rl 3 A A8l IR I a6t HifSte :
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/erer | 3iiz || Sloil 31t & [Option ID = 14649]

Both Statement | and Statement Il are incorrect/a@erwer | iz 1l Giali sieia & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/emr | 31t 8, fpoq et |l sieta & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/@emwt | sci @ , fpog et |l 2@t & [Option ID = 14652]

A wWw N =

Correct Answer :-
e Both Statement | and Statement Il are correct/emr | 3iiz | cleif 2t & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

weTdol U TS g 3 fSrImT 3uriieT 3ruafdrse Sier A aRIr 9Ly @3l 3 v sirar 3:
A. sftfa forcifda o1R1 ucrell @I scrol 3

B. 31ig Sifadbkr o1 Blas @ fore

C. e itz ot (3fis1) @t et A

D. St @ srzeril wolear I serol 3

oA R s1e Riescdl # A & a2 o ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

1. A, B and C only/dact A, B siiz C [Option ID = 14653]
2. B, Cand D only/@aa B, C siiz D [Option ID = 14654]
3. A, Band D only/a@aet A, B siiz D [Option ID = 14655]
4. A, B, Cand D/A, B, C alix D [Option ID = 14656]

Correct Answer :-
e A, Band Conly/aac A, B iz C [Option ID = 14653]

35) Match List | with List Il




List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;3Cl, Il. Halons
C. CoF4Cly Ill. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

ret -1 et -l
sirsilel gifsa ucref Sie

A. C3HF7 I. HCFC
B. C2FH;3Cl2 Il. 3clica
C. CoF4Cly lll. HFC
D. CF3Br IV. CFC

i) feu oru famedl 3 A A8 3R gforu :
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

1. A-1,B -1, C-1I, D - IV [Option ID = 14657]
2. A-1l,B-1,C-1V, D - Il [Option ID = 14658]
3. A-1I,B-1V, C-1ll, D - | [Option ID = 14659]
4. A-1V,B-1l,C-1,D - Il [Option ID = 14660]

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g oI SIel Uz Soa 118 Jzereil & wafféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/sme [Option ID = 14661]

2. China/dfer [Option ID = 14662]

3. USA/guae [Option ID = 14663]

4. Russia/za [Option ID = 14664]

Correct Answer :-
e |India/ema [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgsifeiRaa Y So1d> 3106l A BITHATGRIR afded Hifsre

A. BIcter sirRIeT

B. JscR meI

C. Frar wrlge (Rrorcar)

D. wirste Alston (Cetror)

E. gs B¥a

ofid fou a1 el 3 2 A8t ST gt ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

B, D [Option ID = 14665]
A, D [Option ID = 14666]
, D, A [Option ID = 14667]
A, D [Option ID = 14668]

A W N -

Correct Answer :-
e C,E, A B, D[Option ID = 14665]



38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forrarferRaa & A1 @l A Aifafere forpr 3 :

A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/d>qet A siiz B [Option ID = 14669]
C and D only/@aet C iz D [Option ID = 14670]
A and C only/a@act A siiz C [Option ID = 14671]
D and E only/@aet D iz E [Option ID = 14672]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 St 2ft I Ferruen o Zoa & e g5 3 ?

A. Zor 3 Ica fren 3 sigpRienel 3R stayarieil @ a@rar Sl

B. fareafdemcril f318ir @ eIl ®I WoarIal, forerfzur siiz Sxasimar

C. Tor 3 Ica fren as uga ! dGTel

D. frafdencril siiz Bicisil @ Mocloll BT [T woll

E. 3@ qen Isa IRERI SR Iaa fOren siffener el & dia dstayul ot & %y 3 Aar Ygrel a6l
ofid fou a1 fwseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

A, C and E only/d@act A, C 3iiz E [Option ID = 14673]
A, B and C only/@ac A, B siiz C [Option ID = 14674]
A, B, C and D only/daet A, B, C 3iiz D [Option ID = 14675]
B, D and E only/d>aet B, D siiz E [Option ID = 14676]

A w N =

Correct Answer :-
e A, CandE only/aact A, C siiz E [Option ID = 14673]

40) Match List | with List I

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [Il. Promotes research in History

C. ICPR [lll. Promotion of quality in Technical Education
D. ICSSR |[IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:




et -l oot 3 -1l A Fgafera Hifsie :

xet -1 ot -l

A. AICTE |. coforom & 3roIRieiel Bl dGTol

B. ICHR 1. sfererRa 3 siofRienet I aGlol

C. ICPR I, aapotichl {3181 <l SJUTaTr DI SGIaT Soll
D. ICSSR IV. srnfSie forsimell 3 siofRiens o aGiell

il f3u s1e frseul 3 ¥ A IR o ©
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-11,B-1l,C-1,D -1V [Option ID = 14677]
A-11,B-1l,C-1V, D -1[Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
A-1V,B-1l,C-Illl, D-1[Option ID = 14680]

A W N -

Correct Answer :-
e A-Ill,B-1l,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 s1Q srerior @) ue 3R ofid feu s1w yesll B 3az S ¢

ARTSIP afdpR ud a3 - AR s@emrn 3 Sit Jregul Sor J fafeer wwul 3 siRdaraare snfffe, ARnkee, IEEfae ik Aroiie - Ao
ofirl & fafdeer uscrsil @1 Adate B! G RV T $AD Aca D 1T W gU; AT 9165, Iol AH! Sif fefap, ATMIPE iz AFDmitie wu A
afdvapa A3El ur &A1 DRA D 3 3l AT & A e AP WU A @Bl cllsll Bl Jorchl Rrerfer A ars? forpIcal @I BRI B! ard dg iR
&A161 DIGA D31 3 BiA D AAST MRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil RIU 3 96 gu WU I RISl I &alol gra @2 @ 3 51
9re¢ bl Ieufe, araa i Pz awolidl acard 3R snffe gerizasi @ e 3R - NP JATS 3 AHIRID Dl D Joeld FasU DI
Qol3aeIRuII Jollel B U YARI DI Yoidfa ddl 3 3creur o fere ufker aenfie fravser & v gefisya aidl yfigam o1 sepa @2 61 8 Sil
gAfe1 3Y a1 3 Tilfs dal cid FIRT Bt RASEIS, TGl FYARTT i BBl AT A i sear & sifcifaferi urfl s & 2 Garaeu oY
el AHIRID FIPBI BT 3G 3l Wl 3 R A RI D i 3 fafdioot U 3 el S 3 "ot SienRie s, ‘syarfl’, ‘seirdl 39s’, "vba
siftrira’ affaa A oR AP AI=sH & gy D Ade I Ao afdcor 3 wRI a6 Rl 3 AT <1 Asvayel #E Feuadre kR & F gaa
TRIT AEMRYN 3 ok 9Nfdret dlar 3 Sl feadwur grRI séidl, 3RITeIdl, due scfe @ SIA 3iferd USURPId BHA® D dad oldl Yglol b= s
ADAl GIRI 3R 3ferp HAsTayvl, fb o= 31 sraerRun @I PRIl uf¥ggRn A Rt caaren (Afcer) @ sifefym fraiiya fepan sit aden ? o= a8
IR DI TR A i1 B e s A, T Wl Rafel PR agizad el &6il 31 A v Wil Refer R agizae el sR’id 8l ? Jute 34
3 IR, 3RIATGIAL, ddol sDcl 3R HTATSl arcl a2 Fei R fdRT krauvr 3 *ue »4 A &ame $ar sk 8

The concept of social exclusion is multidimensional because of:

ATHAISID SfECDR Dl FTEMRUI b BRUI A Jg3rRIeEd 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

multiple groups to focus on/fafeer el v dfga [Option ID = 14681]

variations in deprivations/ddon @ ¥a%u 3 fdeerar [Option ID = 14682]

the prevalent notion about social outsiders/menfSics =u 3 @g3t clsll @ ar 3 yafera sraemzon [Option ID = 14683]
social statuses across nations/2igui Ser 3 Jmnfsre Refer [Option ID = 14684]

A W N -

Correct Answer :-
e multiple groups to focus on/fafeer wel w dfga [Option ID = 14681]



2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 s1Q srerior @) ue 3 ofid f3u s1w yesll B 3az S ¢

ARSI afdepR ud a3 - ARIEH s@emrn 3 Sit Jregut Sor d fafeer wwul 3 siRdaraare snffe, ARnkee, IEfTe i Aroiae - Ao
PRI @ fafiiosr usgsil ®I e Dot Bl RV 3 3D Acd D fore el gu; A6 oI, Iol APl sl 3nfdfep, ARG iR ARGiae wua 3a
afdvapda AEl ur &A1l DIRA D 3 3l AT & Az 966 ARMISID WU A 1Bl cllvll Dl Jorchl RFrerfer A ars? orpIcrol @I BRI B0l ard ¢ iR
€161 DIGA D31 3 BiA D AAST NRRIT D cidl 3 JRT WU 3gd A6 aLrRVI il RIU 3 96 gu WU 3 RIgTsll I &ilol gra @2 3 3 53
9rec bl 3eufe, araa 3 Pz ddolidl gcard 3 snffe Yerizaei @ e 3R - ENBID JATS 3 AHIRID Dl D Joeld Fa3U DI
ol3IaeIRUII Jollol B TP YARI DI Yoidfd drdl & 3cr1eu1 o fere ufkpr Ao firavser & v geflsyd aidl Y o1 3epa 2 61 & Sil
safere A 261 8 aRiifes asi cid JarRT Bl AASEIEL, TGl AYARIT 3R BeANIGHEI IS A WS seal & sifafaffril uril s 38 3 wasaeu oY
Her ARG FIS BT IGd 3l 61 3 312 A gl D dia 3 fAfdioot u 3 ool sa 3; ‘ofa eNfD slia’, ‘sigaril’, ‘seindl J3E’, ‘T
siftrra’ affaa A oRt AN Ja=sl & gy D Ade I AP afdsor 3 wRI a6 Rl 3 AT 31 Hevayul g Feadre kR & F gaa
TRIT AEMRVN 3 ok 9Nfdret dXar 3 Sl freaduur grRI séidl, 3RTHIeIdl, due scfe @ S 3if2rd USURPId BHA® D dad oldl Yglol = s
ADAl GIRI 3R 31ferp HAsvayvl, fo o= 1 sraerRun @I PIdlk uf¥ggRn A famr caaven (Afcer) @ sifefym faraiiya foan st aden ? o= a8
IR DI T A 31 B aw s A, v Wl Refel PR agizad el &il 31 A v Wil Refer R agizae el sR’id 8l ? Jute 34
3 ofidll, 3RIHATGIAl, ddel Gl 3R grararsil arcl JHdfera el uR faerI frauur # samud wu A eart G sk &

The new reflection on social exclusion has emerged from

ARNRIE afdtpR UR oid - Ridel waf A 3cuod g3 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/zRu 3 sitesfias2ur yfdgenr [Option ID = 14685]

The arrival of new scholarship in sociology/3ston ¥ ol uif$eI (IpIcRim) @1 3mepiel [Option ID = 14686]
The technological impact on societies/mrsil w2 awefid gema [Option ID = 14687]

The changes in the nature of social inclusion/mfSip e @ Faeu # decra [Option ID = 14688]

A W N -

Correct Answer :-
e The industrialisation process in Europe/zRlu 3 sieisfiasur gfepzn [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.



3 310 srenior o ug 3z ofid 3w s18 Yol & 3az ¢ :

AP afdpR vd o3 - ARIEH s@emrn 3 Sit Jregul Sor d fafeer wul 3 siRdaraare snfffe, ARNRIG, IEEfae ik ARrolhe - Ao
ofiril & fafdeer uscrsil @1 A3IHate B! B RV T $AD Aca D 1T W gU; AT 916G, Iol AH! Sit fefep, AP 3R ATpiiies wu A
afdvapda APEl ur &A1l DIRA D 3 3l AT & Az 96 ATMISID WU A 13t cllvll Dl Jorchl RFrerfer A ars? orpIcral @I BRI B0l dard ¢ iR
€161 DIGA D3I 3 BiA D AAST AMRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil RIU 3 966 gu WU 3 RISl I &alol gra @2 & 3 53
9166 I Ieufel, ar<d I JIRT dAdoiidl docid 3R 3> Yorizel @ el IR - IMENRID AATST d ATMRID DIl D Seekd FasU DI
Yol3IaeIRuIl dollol @ U YATRA Dl Yghdia oxdl T 3creur o fere uftier amenfore foravse 61 ves aetiye sl gfdgan o siopa @2 261 3 it
safere A 261 3 aRIifes asi cid JIRT B AASEIE, TGl AYARIT 3R BcANIGHE] AT A WS seal & sifafaftril urll s 38 3 waraeu oY
eI ARNRIB YS! BT 35d 3l W 3 3R I Rl @ dfa 3 fafdost u 3 siet Sid 3; ot siienfere si¥la’, ‘srgarRil’, ‘gfeirdlr A3s’, 'vwa
siffrra’ affaa A oRil Ao AaF=sH & gy D Ade A Ao afdsor 3 wRI a6 Rl 3 AT 31 Hevayul e Feadre R & F gaa
TRIT AEMRYN 3 ok 9Nfdret dar 3 Sl freaduur gRI sidl, 3RTIeIdl, dae scfe @ S 3if2rd USURPId BHA® D dad oldl Ygiol = s
ADAl GIRI 3R 31f¥rp HAsTayvl, fo o= 1 sraemzun @I FRIdlkr uf¥ggRn A faorT caaren (Afcer) @ sifefym faraiiya fooan st aden ? o= a8
IR DI AW A 31 DI dw S A, T WAl Refel PR 9giad el &6il 31 A v Wil Rreafer RR1 ag3iIe oiel oRid 8l ? Iute 34
3 oidll, 3RIHATGIAl, ddel Gl 3R grararsil arcl Hdfera el uR faerI frayur # carud wu A eurer G sk &

The post-industrial society and economic restructuring have contributed for
IR - 3iiEnre A iR 3nfies Yorien o fipard fore Apreret & 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/3JIsPIR 38 w yoifdar [Option ID = 14689]

Strategies aimed at social integration/3mimfSie wdbiaur & aférd wishferif [Option ID = 14690]
Fragmentation of welfare state/@camwert 3= @I ffaema [Option ID = 14691]

Social disintegration into new deprived groups/sra dferd 9gl 3 AEnfe fdravser [Option ID = 14692]

A W N -

Correct Answer :-
® The reconsideration of employment issue/3IspIR #g w yoifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 31U srEni9r @I U iR ofid f$u 3w Yol & 3= ¢ ¢

ATHISID SfECPR U &g - IR 3aemRun 8 Sii AFgui Sor 3 fafaer wul 3 siaradret e, APIRIE, ASEiiae iR ARG - AP
D3RIl @ faffioot uscysil dI AdIfase DIl DI TRV & $AD Acd D fe1e el §U; A 9056, Iol APl il Mffp, AHIRIPG 3R ARFDITD WU A
afdcma APl UR eArel DiGA DI 3 3R AT & Az 9166 AAIRID WU A d183t Izl B Jorchl F-erfer A ars2 formictol @1 BRI B2l ard ddq U
€110 DiGA DA 3 BiA D TSl IR D Rl H PRI U Igd A8 JALIRUN Ul R i a6d gu U d RIsrell @1 &aret Y &2 3 & 39
9rec bl Ieufer, araa I Pz dwolidl gcard 3R snffc gerizaei @ e 3R - NP A d AHIRID Dl D Joeld FasU DI
Yol3[AENRUII Sollol @ U YRR Dl Yaidia oxdl 3 3crsur @ fere ulkme Amenfore ffravse & wos welise sicll gfigam o 3o @2 6T 3 St
sAfeIe 31 26T & aRIIfs asi cid FIRT Bl ASPIEL, TGAT AYARIGT 3T BCANIPEI I A WS seol &I sifcfaf?ril urfl s 28 & warasu o=t
el ATHIRID BT BT 3G 3l W 3 R A 2RI D i 3 fafdioot U 3 el S 3 "ot Siienfre s, ‘sigarfl’, ‘sfeirdl J9E’, "voa
siftrra’ affaw A oR AP A= o gy D Ade I AP afdsor 3 BRI a6 Rl 3 A6t 31 AeTayul g Feuare kR & F geaa
TRIT ARV 3 oRIT 9Nf3ret il 3 Sl fedwuT GRI siéidl, 3RIIeIdl, ddel SIfS @ SIA eI URURPIA BAAMD I dad ofdl Yglol fabam i
ADAl GIRI 3R 3ferp AsTayvl, b o= 321 sr@erRvn @I PRIk uf¥ggRn A f[ert caaven (Afder) @ sty fraiiya fepan st aden ? o= a8
IR Bl A A <31 Gt G- S ADden, v Wl Rafer Rrml agizre et acft 3 3 v ¥l Rafer Rril agizsae et si¥lq &l ? Fuse U
3 SRNdl, 3RIATGIAL, ddol serl 3R rIATl ardl Hdf2ia Fei uR fprRT firauvr 3 *mue »u A &« $ar sk 3

The scholarship on social exclusion has gone beyond
ARRID df3cPR UifseI (FPIcROMT) $3AD U2 ST Ibl 3 &

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]



The reach of governments/3r®RI &t uga [Option ID = 14693]

The conventional thinking/uusera 2ira [Option ID = 14694]

The normal issues of deprivation/ddon @ et #g [Option ID = 14695]
Common perspectives of inclusion/w@mdsret & mwie ufsggn [Option ID = 14696]

A WN -

Correct Answer :-
® The reach of governments/ar®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

& 31C srenior o UG 3z ofid 3w s18 Yol & 3az ¢ :

ARTSIP afdpR vd a3 - ARIEH s@emrn 3 Sit Jregul Sor d fafeer wul 3 siRdaraaret snfffe, ARNRG, IEEifae ik ARrolie - Ao
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safere A1 261 3 aRiifes asi cid JrRT Bl AASEIEL, TGl AYARIT iR BcANIBGHEI IS A WS seol &I sifafaffril urll s 38 3 wasaeu okt
eI ARNRIB APS! BT 35d Al W 3 3R I Rl @ o 3 faffiost u 3 siet s 3; 'ora siienfere sifla’, ‘srgarRil’, ‘gfeidl A3s’, "vwa
siffrra’ affaa A oRil Ao AaFsH & gy D Ade I Ao afdsor 3 WRI a6 Rl 3 AT 31 Aevayul g Feadre R & F gaa
TRIT AEMRVN 3 ok 9Nfdret dXar 3 Sl freaduur gRI séidl, 3RTHIeIdl, dae scafe @ SIA 3if2rd USURPId BHA® D dad oldl Yglol s s
ADAl GIRI 3R 31ferp AsTayvl, fo o= 1 sraerzun @I FIdir uf¥ggRn A Rt caaren (Afcer) @ siferfym faraiiya foan st aden ? a=r a8
IR DI AW A ST DI dE S A, T WAl Refel PRI 953 el &6il 31 A v Wil Rrerfer PRI ag3iIe oiel oRid 8l ? Iute 34
3 ofidll, 3RIHATGIAl, ddel abGRY 3R grararsil arcl JHdfera el uR faerI frayur # camud wu A eart G sk &

The concept of social exclusion is now
ARG ai3sbrR & ST SIaenon 3

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdRI cisll W D farr (fter) [Option ID = 14697]

2. An issue of developmental capability/fd@ricaes 2meret o1 gz [Option ID = 14698]

3. A commodity for export from the North to the South/3m= 3 gfér &t @w foria @ e azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/df®a®m ¥awu arefl, uf2pil sitemt 3 a8 Siedt g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/?RIdlI cilell w2 ®fga fawrr (eftsr) [Option ID = 14697]

Topic:- 03Philosophy_A_New

1)
In Vedic tradition by performing yajfic one can be free from:

(1) Trspaonly (2) Devarna only

(3) Pitrrpa only (4) Both Trsnd and Devarna

ELEEANERC R B E - b1 - £ 7 S 7 s O I =

(D e gom & @) Faa T T



(3) e fUgRT o (4) T ST FTEES AN OH

[Question ID = 5846][Question Description = Q01_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1 [Option ID = 22571]
2 [Option ID = 22572]
3 [Option ID = 22573]
4 [Option ID = 22574]

A W N -

Correct Answer :-
e 1 [Option ID = 22571]

Which system holds that which has origination (utpatt:), stability (sthifi) and destruction
(vinasa) is satdrauya?

(1) Vaisesika (2) Vedanta

(3) Samkhya (4) Jaina

sy, Rafa #fie fEamsr o s aaz=a & =9 § FfEag 7

(%) EEIRED (=) A=

(3) e () =

[Question ID = 5847][Question Description = Q02_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22575]
2. 2 [Option ID = 22576]
3. 3 [Option ID = 22577]
4. 4 [Option ID = 22578]

Correct Answer :-
e 1 [Option ID = 22575]

Consider the following and select the code that presents the Carvaka position correctly:

(1) Sukhavada only (2)  Dehatmavada only
(3) Both Sukhavdda and Dehdatmavdada (4) Neither Sukhavada nor Dehdatmavdada

Faffag o= fG=m &€ s 39 32 &7 =39 #490 =9dEis =29 fF Pafs & @ 98 9 a5qq

FAT ¢
()  FEA qEaE () A TFreAATS
y)  TEATS @ EEreETE AET (r) WA TEATS T AT AT

[Question ID = 5848][Question Description = Q03_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1 [Option ID = 22579]
2 [Option ID = 22580]
3 [Option ID = 22581]
4 [Option ID = 22582]

A W N -

Correct Answer :-
e 1 [Option ID = 22579]

4) Anumana cannot be a pramana according to the Carvakas because:

(1) Anumana is always incorrect

(2) Anumana is sometimes incorrect

(3) Vyapti relation of an anumana cannot be established
(4) Anumana is always dependent on pratyaksa

=il G2 & TR ITART U AT o161 61 Sebell Sieh
(1) A A& FEA Qary
@ A Fh-ash awe g ¢




(3) AW & OItd GAG F TG A6 R ST Thal &
@) AW Hod W W Haelead ol §

[Question ID = 5849][Question Description = Q04_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1 [Option ID = 22583]
2 [Option ID = 22584]
. 3 [Option ID = 22585]
4 [Option ID = 22586]

A W N -

Correct Answer :-
e 1 [Option ID = 22583]

5)
In Vedic tradition Brahma ean be the rfvika of:
(1) Rk veda only (2) Samveda only
(3 Yajurveda only (4) Rk veda, Samuveda and Yojurveda

(z)  FEAAEIEE (%) FEA AHAE
(2) FA TAAR (¢v) FEE ,ATHAT AT T4

[Question ID = 5850][Question Description = Q05_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1 [Option ID = 22587]
. 2 [Option ID = 22588]
3 [Option ID = 22589]
4 [Option ID = 22590]

A w N =

Correct Answer :-
e 1 [Option ID = 22587]

6) Which school holds that there are external objects but we cannot perceive them?
(1) Sautrantika (2) Vaibhasika
3) Madhyamika (4) Yogacara

fopa1 cr9lfore 1A @ 3ERIR &:i avqgu dldl dal 3 fiboq 331 oI Mo ofdl B2 ADA?
(1) Hiqfoas (2) dfrs
(3) areafdam (4) APIIR

[Question ID = 5851][Question Description = Q06_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22591]
2. 2 [Option ID = 22592]
3. 3 [Option ID = 22593]
4. 4[Option ID = 22594]

Correct Answer :-
e 1 [Option ID = 22591]

7) The asamaudyi karapa of a trasarem: according to the Vaisesikas is:
(1) Paramédm (2)y Duvamka
(3 Duyvamika samvoga (4) Paramdm samyoga

Fsifm ¥ waTT TH T (trasarenu) T HEFATIT FET F

() 9w (2)  zF-=
@) - THT @ T

[Question ID = 5852][Question Description = Q07_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22595]
2. 2 [Option ID = 22596]
3. 3 [Option ID = 22597]
4. 4 [Option ID = 22598]

Correct Answer :-



e 1 [Option ID = 22595]

8) By what sannikarsa, according to Nyaya, do we perceive the relation between a pot and its colour?
(1) Samavaya (2) Sanwyukta Samavaya
3) Visesanata (4) Sanwyoga

T g & AR R Aleddy & FROT dder 3R SHR T & A TEaed 1 §H Ied

T B ?
(1) wHaE (2) HgFd gAGH
(3) TA9IUTAT (visesanata) (4) TEET

[Question ID = 5853][Question Description = Q08_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22599]
2. 2 [Option ID = 22600]
3. 3 [Option ID = 22601]
4. 4 [Option ID = 22602]

Correct Answer :-
e 1 [Option ID = 22599]

9) Which one among the following is not a means of saktigraha according to Nyaya?
(1) Aptavakya (2) Vyakarana
(3) Tarka (4) Upamana

1T e & TR TeAFsteliad # @lo- & U offdadis $T e A6 ¢
(1) 3o (2) SEAOT

3 o (4) 3ITART

[Question ID = 5854][Question Description = Q09_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22603]
2. 2 [Option ID = 22604]
3. 3 [Option ID = 22605]
4. 4 [Option ID = 22606]

Correct Answer :-
e 1 [Option ID = 22603]

10)
By which sense-organ do we perceive the absence of hitterness in the water according to Nyaya?
(1) Visual senses-organ (2) Tactual senses-organ
(3) Gustatory senses-organ (4)  Auditory senses-organ

M T F OATAR IHT H FHEATee FAAE FT ZH A AWiET 2R HT9d w5 27

(2)  F9- TEATEET () *ast - ghsAigeT
(3)  TEE-IfEAT g (v) =ET -FiEAT T

[Question ID = 5855][Question Description = Q10_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22607]

2. 2 [Option ID = 22608]
3. 3 [Option ID = 22609]
4. 4 [Option ID = 22610]

Correct Answer :-
e 1 [Option ID = 22607]

11)
‘Sabda gunah caksusatvat’

Which type of hetvabhdsa is committed by the above anumdna?



(1) 2adharana sauvabhicara (£) oSvarupasiddha
(3) Viruddha 4) Asrayasiddha
STEE AT ATATAT

SATATH ®T FIF AT TR UL ATHE T Aidgs g 7

(v)  HTET HATHEAT () FEEUTAE

(3 = (¥) SATHATEZ

[Question ID = 5856][Question Description = Q11_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22611]
2. 2 [Option ID = 22612]
3. 3 [Option ID = 22613]
4. 4 [Option ID = 22614]

Correct Answer :-
e 1 [Option ID = 22611]

12) Who among the following holds that the existence of God cannot be proved for the lack of pramana (Isvarasiddhe
Pramanabhavat)?

(1) Gautama (2) Sankara

3) Kumarila (4) Kapila

rafei@a & ¥ Faa g R @ar § & yaor (Safafguammmarg )& 3 & Sl &
fEaca & &g Agr fohar =1 Sahar ?

(1  as (2) T
(@)  FARe 4) e

[Question ID = 5857][Question Description = Q12_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22615]
2. 2 [Option ID = 22616]
3. 3 [Option ID = 22617]
4. 4 [Option ID = 22618]

Correct Answer :-
e 1 [Option ID = 22615]

The first evolute Of Praksrti in Samkhya theory of evolution is:

(1) Ahamkara (2) Manas
(3 Buddhi (4) Jianendriva

e & we - A 7 oaga wr waw TEee g o

(2) AT () 799
(3) Th (¥) FTAEAT

[Question ID = 5858][Question Description = Q13_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22619]
2. 2 [Option ID = 22620]
3. 3 [Option ID = 22621]
4. 4 [Option ID = 22622]

Correct Answer :-
e 1 [Option ID = 22619]

14) “When silver is perceived in a shell, the silver is actually remembered although it is not present in perception as
remembered silver.’”’” Who holds this view?

(1) Nagarjuna (2) Sankara
3) Prabhakara (4) Kumarila

"SI Toid @ T H 3T R ST & A # Tod WROT A B T 3edi a5 T
F T T T & 9 H ucgs A F faegae a9 gar § g R e a2



(1)  aemsd (2) 9

2

(3) TR (4 FARS

[Question ID = 5859][Question Description = Q14_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22623]
2. 2 [Option ID = 22624]
3. 3 [Option ID = 22625]
4. 4 [Option ID = 22626]

Correct Answer :-
e 1 [Option ID = 22623]

15) Which of the following systems approve jivanmukti? Select the code.
(1) Sarhkhya and Dvaita only
(2) Advaita and Carvaka only
3) Dvaita and Advaita only
(4) Advaita and Samkhya only

forgotferRaa 3t 3 Plet AT A Slactgfts Bl ARV DY ATl ST 3?7 Al G BT TRIel BIBRL
(1) daer aizsa aiiz $a @R

(2) daa ar3a sirz amafe Frr

(3) daa ga sk siga grx

(4) daa suga iz AT gRr

[Question ID = 5860][Question Description = Q15_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22627]
2. 2 [Option ID = 22628]
3. 3 [Option ID = 22629]
4. 4 [Option ID = 22630]

Correct Answer :-
e 1 [Option ID = 22627]

16) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Consider them and select the correct code in the context of Carvaka Philosophy.

Assertion A : Water flows downward.
Reason R : The earth is round.

In light of the above statements, choose the correct answer from the options given below
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

A &1 Fue Rw aw § ;e @ sfiEe (A) 3R gE @ a% (R) w1 w4 g

Al g & Hoegdl A5H W faaR FY 3R /G e &1 =7
AFFYF (A) : T AR #T R EET £

@* (R) : gt §

I9AFT FUAT & Mol A fordiiehd fased! # & WG Seal el

(1) Q) 3R (R = |61 & 3R (R). () & |56 @ gl



(2) (A FR (B) 2T W6l & Wed (R). (A) &I Tl =& #1el 6l
(3 (A) T & Wed (R) e 6T &
4 (AW G & e (R) TE B

[Question ID = 5861][Question Description = Q16_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22631]
2. 2 [Option ID = 22632]
3. 3 [Option ID = 22633]
4. 4 [Option ID = 22634]

Correct Answer :-
e 1 [Option ID = 22631]

17) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Consider them and select the correct code

Assertion A : Even the state of nirvana cannot be completely free from duhkha.

Reason R : Sarvar duhkharh duhkham.

In light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

AT g1 Fue TGw A § ;v @1 e (A) 3R gEt @ o (R) &1 IR G

59 W faar &t 3R |6 e & aua =

#HEUT (A) - TE o T WEoT $ saeen sgw & gofaar #ad S8 6 W ¢

7 (R) : WaA §EA GEH|

3udEd FUEAT & 3ol & T aweal & & W Sca¥ oo |
1) @I (B P @ § IR (R). (A) F w@r e gl

@ @ IAR (BR) &= 66 § Red (R), () BT G e w1t §
(@) (A T = (B TG FE

@ (4) T T & Wed (R) W G

[Question ID = 5862][Question Description = Q17_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22635]
2. 2 [Option ID = 22636]
3. 3 [Option ID = 22637]
4. 4 [Option ID = 22638]

Correct Answer :-
e 1 [Option ID = 22635]

18) Select the correct sequence of the following:

A. Avagraha
B lha

C. Avaya

D Dharana



Choose the correct answer from the options given below
(1) A, C,B,D
(2) A,B,C,D
(3) B,A,D,C
(4) D,C,AB

frrATaTEd & AET A & T HL

A 3aag
B SeT

C.  am

D. emom

() ACBD

2) AB.CD
(3) B.ADC

4 D.CAB
[Question ID = 5863][Question Description = Q18_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22639]
2. 2 [Option ID = 22640]

3. 3 [Option ID = 22641]
4. 4 [Option ID = 22642]

Correct Answer :-

e 1 [Option ID = 22639]

19) Select the correct sequence of the following:
A. Samyak vyayam

B. Samyak ajiva

C. Samyak samadhi

D. Samyak smrti

Choose the correct answer from the options given below

A OFad aH
B. & HEd
C. TFIF AT

D. wH® id

A few e fashedt F § GE Scak I



(L A bCD

(2 ACBD
(3 B.ADC
4 D.CAB

[Question ID = 5864][Question Description = Q19_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22643]
2. 2 [Option ID = 22644]
3. 3 [Option ID = 22645]
4. 4 [Option ID = 22646]

Correct Answer :-
e 1 [Option ID = 22643]

20) Consider the following schools and select the code that represents the school(s) which take(s) the help of adrsta to
prove the existence of God.

(A) Nyaya

(B) Vaisesika

©) Mimarisa

(D) Sarhkhya

Choose the correct answer from the options given below:
(1) A only

(2) A and B only

3) B only

(4) A, B and C only

fArafafad st W faar #Y 3R 39 e & 9890 F S S F Adca @ swser f
e © 5 ST drell omar &7 Uiafitca e

A =g
B. d9f¥w
C. #Ar#rar
D. |

A BT AT fadeat & WE @ g
(1) &ad A

@2 Fad AR B

(3) &ae B

4y Fad ABIHR C

[Question ID = 5865][Question Description = Q20_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22647]
2. 2 [Option ID = 22648]
3. 3 [Option ID = 22649]
4. 4 [Option ID = 22650]

Correct Answer :-
e 1 [Option ID = 22647]

21) Which of the following statements are correct in the context of vedic philosophy? Select the code given below.
A. Rta comes out of God

B. God comes out of Rta



C. Rta controls heavenly bodies

D. Rta controls natural phenomena
Choose the correct answer from the options given below:

(1) A and B only
(2) B and C only
3) B, Cand D only
(4) A, Band C only

iRF o & Teoet A Frfafad e F & 39 F 98 § 20 R we & 97w a1
A Fasway & 3fcd §

B. @ ®kd & 3cUkd ¢

C. d f¢cd &1 & afEd &=ar §

D. Fd Wigpfas aREeaAst & Fafeaa et §

A R e Raed # T e I
(1) &aad AR B

2) @aa B3k C

3 Faa B.CxRD

4 Faw A B3R C

[Question ID = 5866][Question Description = Q21_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22651]
2. 2 [Option ID = 22652]
3. 3 [Option ID = 22653]
4. 4 [Option ID = 22654]

Correct Answer :-
e 1 [Option ID = 22651]

22) Who among the following advocate(s) the apauruseyatva of the Vedas?
A. Jaimini

B. Kumarila

C. Prabhakara

D. Vasubandhu

Choose the correct answer from the options given below:

(1) B and D only

(2) A, B and C only

3) A and D only

(4) C and D only

AT & O a7 agr & sdtedmar & geEr g g 2

20 W

: dddE]

-2

e T fdFedr T & 980 3cad 9



(1) Faa B3k D
(20 Faad A BiR C
(3) aa AR D

4 Faa C3ikD
[Question ID = 5867][Question Description = Q22_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1

[Option ID = 22655]
2.2

[Option ID = 22656]
3.3

[Option ID = 22657]
4. 4

[Option ID = 22658]
Correct Answer :-
e 1

[Option ID = 22655]

23) What is the role of saksi in Dvaita Vedanta?

A. In the production of knowledge

B. In the ascertainment and validation of knowledge
C. In being a sense organ

D. In producing doubtful cognition.

Choose the correct answer from the options given below:
(1) B and D only

(2) A, B and C only

3) C only

(4) A and D only

Sd Actoa 3 e & Yt a=n 3 ?

A. Silol @ Jeufer i

B siret <1 gefifer iz derar 3

C. Silolfoga dlol @ WU 3

D eyl siopyfr Bt zaom war 3t

o R a1 Ripedl 3 A w18 s gat
(1) aa B sz D

(2) @aa A, Baiz C

(3) @aa C

(4) daa A itz D

[Question ID = 5868][Question Description = Q23_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1.1

[Option ID = 22659]
2.2

[Option ID = 22660]
3.3

[Option ID = 22661]
4. 4

[Option ID = 22662]
Correct Answer :-
o 1

[Option ID = 22659]



24) Match List | with List I

List | List Il

|. Direct Knowledge of past, subtle and distant

A. Kevala .
object.

B. Manahparyayall. Direct knowledge of the thoughts of others.

C. Avadhi Ill. Mediate perceptual knowledge

D. Mati IV. Intuitive, complete and absolute knowledge

Choose the correct answer from the options given below:
(1) A-1,B-1l,C-1l, D-1V

(2) A- 1V, B- 11, C- 1, D- 1l

(3) A- 11, B- 1, C-1ll, D- IV

(4) A- 1V, B- I, C-lll, D- 1

T IF T I & gt A

o 1 T 1L

™

A Fad I sdeel. &H 3 gIFT avd(OBJECT)&H Tedal el

B. & 94 II. ge & Taarl 1 Yedar At

C. 3mafer 111 cTafgd drelcHs ATl

D. Afg IV 3id:YalcAs qo7 3R et

# R e Riedt ¥ ¥ W8 3ce 9T
(1) A-LB-II,C-TIO, D-1IV

(@) A IV BIIC-ID IIT

(3) A 11 B-1. C-IIL. D- IV

(4) A IV.B-II. C-III. D- I

[Question ID = 5869][Question Description = Q24_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22663]
2. 2 [Option ID = 22664]
3. 3 [Option ID = 22665]
4. 4 [Option ID = 22666]

Correct Answer :-
e 1 [Option ID = 22663]

25) Match List | with List I

List | List Il

A.Satta i. Parasamanya

B. Prthivitva (ii. Aparasamanya

C. Guntva iii. Paraparsamanya

D. Udbhdtatvaiiv. Upadhi

Choose the correct answer from the options given below:
(1) A-1,B-1l, C-1ll, D-IV

(2) A- 11, B- 1, C-lll, D- IV

3) A- 11, B- lll, C- 1, D- IV

(4) A-1, B-1ll, C- IV, D- 1l



ﬂ;i’r-lafruf?r-]] ﬁgﬂﬁaﬁﬁv

iafh 1 =it 11

%A. Tear [ AT
]B_ Tedtea 1. A
C. soted T RO
D. 3gded TV 3urfer

AT few T faskedt & @ Tl 3ca I
() A-I.B-I.C-IIIL D-IV

2) AT B-I C-IIT, D- IV

(3) AILBIOLCID-IV

@ A-LB-ILC-IV.D-II

[Question ID = 5870][Question Description = Q25_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22667]
2. 2 [Option ID = 22668]
3. 3 [Option ID = 22669]
4. 4 [Option ID = 22670]

Correct Answer :-
e 1 [Option ID = 22667]

26) Vivekananda’s conception of Reality is:
1) Pluralistic (2) Monistic

3) Heterogenous (4) Imperfect Unity

@ eiee 6T TuUmeTar &1 99T § -
(1) sgeERE (2) 3EddcHS

(3) e (4 HYOT vhca

[Question ID = 5871][Question Description = Q26_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22671]
2. 2 [Option ID = 22672]
3. 3 [Option ID = 22673]
4. 4 [Option ID = 22674]

Correct Answer :-
e 1 [Option ID = 22671]

27) Consider the following statements with regard to the distinction between Satyagraha and
passive resistance that Gandhi maintains.

A. Satyagraha unlike passive resistance involves force.

B. Satyagrahi respects the law, unlike a person of passive resistance.

C. Satyagraha is based on the feeling of love.

Choose the correct answer from the options given below:

(1) A only (2) Bonly

3) A and B only (4) BandC only

TRfSR anT g fRT a weanrs iR WfEET oftkier & O g & wew & e
FUAl W TR fifew I

A fSera uioky & ol gcamg & a0 &g gar &



B. fafsrar afcer & faulla Scarergl isiel & 9reled aedl ¢

C.  Wcamg 97 & aepifa W 3T g gl

i fgw A1v fasedt 7 & @61 3ca I
(1) ad A (2) ad B
(3) aoad AR B (4) @aa B3k C

[Question ID = 5872][Question Description = Q27_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22675]
2. 2 [Option ID = 22676]
3. 3 [Option ID = 22677]
4. 4 [Option ID = 22678]

Correct Answer :-
e 1 [Option ID = 22675]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The difference between mind and supermind consists in the difference between their manners of
apprehending reality.

Reason R : Supermind essentially gets the unitary picture of reality, whereas the mind creates divisions.

In light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A
(3) Ais true but R is false

(4) A is false but R is true

oA 2 Fue fqu e § ¢ ve @ e (A) 3R gE #F a& (R) FE IR B

JifaperT (A) - Aad 3R WA A F @IF a0 IS F TAS & ol H 3R B

& (R) - TH A #H TUAT & ChicHs T Hdeda §9 O 9o giar §1 Sidieh #eldy

fasie IcTet T &

I A F HTelE 3 AR el 3 ¥ HE Iea T
O (&) 3R B G e & AR (R), (A) F TEr e g

@ (AR R) = TG & Weq (R). (A) T TG s7Ea 7@
(3 Q&P Red B FE A O

@ (A A § Red (R)TE B

[Question ID = 5873][Question Description = Q28_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22679]
2. 2 [Option ID = 22680]
3. 3 [Option ID = 22681]
4. 4 [Option ID = 22682]

Correct Answer :-
e 1 [Option ID = 22679]



29) According to K C Bhattacharya, Philosophy is concerned with:

A. Empirical consciousness

B. Objective consciousness

C. Spiritual consciousness

D. Transcendental consciousness

Choose the correct answer from the options given below:

(1) A and B only
(2) B and C only
(3) B, C and D only
(4) D only

. 3. srzrarf @ IR gofer-ome Rt 3 wwdftra 37
A. ufsgmremra

B. frerr-forss Aaar

C. smeenfeaes Ao

D. yprepIfasIde

Rrcifeilan R s1e Rraeul I 3 7 Iaz ot ©

(1) dact A iz B

(2) daa B sz C

(3) daa B, C sz D

(4) daa D

[Question ID = 5874][Question Description = Q29_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22683]
2. 2 [Option ID = 22684]
3. 3 [Option ID = 22685]
4. 4 [Option ID = 22686]

Correct Answer :-
e 1 [Option ID = 22683]

30) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Intuition is an immediate knowledge of reality.

Reason R : Intuition is the property of the heart.

In light of the above statements, choose the correct answer from the options given below

1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

A g e e A § : ve @ e (A) 3R gEY & aF (R) 1 = B
T (A) - 3dYAT U FT FAdipd A ¢ |
& (R) © 3T G N OIATH ¥ |

SoiET T ¥ e A i fwedt § ¥ WE o T
1) @R ®) g a6 § SR (R). Q) & 6 e
@ (@3IHR (BR) g T ¢ 9ed (R). (A) & w care Ag g
(3 (AT § Red (R) T G &
@ (AT T8 § g (R) W 8
[Question ID = 5875][Question Description = Q30_03_Philosophy_SHAAN_20NOV21_Shift2_S1]

1. 1 [Option ID = 22687]
2. 2 [Option ID = 22688]



3. 3 [Option ID = 22689]
4. 4 [Option ID = 22690]

Correct Answer :-
e 1 [Option ID = 22687]

31) Leap of faith is explained by Kierkegaard in terms of:

(1) Intellectual, impassionate and finite commitment to God

(2) Non-intellectual, passionate and finite commitment to God
(3) Non-intellectual, passionate and infinite commitment to God
(4) Intellectual, impassionate, infinite commitment to God.

FHATE FET AT FT T A TS0 H AT 2

(v)  FAMfeg® ,J2W0W AT $A7 F wiq HHa Aiadsar

()  WET-dAiigdh AGT-T00 AT AT F TG AT ATad=gar
(3)  WE-FiE®  AEs-U0 T $AT ® Wi Fiad Fiaagn
(¥) =% 32, a7 F i adiag Jiaa=ar

[Question ID = 5876][Question Description = Q31_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22691]
2. 2 [Option ID = 22692]
3. 3 [Option ID = 22693]
4. 4[Option ID = 22694]

Correct Answer :-
e 1 [Option ID = 22691]

32) Consider the following statements with reference to Sartre.

A. Human beings have being-in-itself alone.

B. Human beings have being-for-itself alone.

C. Human beings have both being-in-itself and being-for-itself.
D. Human beings are condemned to be free, as God exists.

Choose the correct answer from the options given below:

(1) A and D only
(2) B and D only
(3) Conly

(4) C and D only

O % o9 F Weiad 940 97 &= fiiEg

A AT FT AT FAT ATT AT H Z@AT 2

B. AME FT ARTA Fad A9 7 g1 2

C. AT F ARae ZE AT AT 7 osfv s B g g

D It Ta7 #1 Aaa ¢ FTAfE AMa @aa g & oo sfEem 2

A 20 U fadei § 7 HEr 39 A9

(1) Fad AFT D (2) Faa Bsiz D
3 ®aTC 4 Tag CsiT= D

[Question ID = 5877][Question Description = Q32_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1 [Option ID = 22695]
2 [Option ID = 22696]
3 [Option ID = 22697]
4 [Option ID = 22698]

A w N =

Correct Answer :-
e 1 [Option ID = 22695]

33) The concept of everydayness is used by Heidegger to:

(1) Explain how human beings lead authentic lives
(2) Explain why human beings lead unthinking lives
(3) Explain why human beings lead lives to their potential



(4) Explain why human beings lead a life of rationality
(2)  HATE ATHIE WA K AATE L FTADT ATAT FAT 2

(2) oqrd fHaagid Stad =0 Sdr 8,34 AT FAT & |

(3) AT AT HATATET & 0 S{ET = ST g L FAd0 AT wEal g |
() A ATREwdT AT Saq = Sar g FEh ATl BT 7

[Question ID = 5878][Question Description = Q33_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22699]
2. 2 [Option ID = 22700]
3. 3 [Option ID = 22701]
4. 4 [Option ID = 22702]

Correct Answer :-
e 1 [Option ID = 22699]

34) Who among the following argued that the subjectivity is primordially ethical and our responsibility
for the other is the foundation of our subjectivity?

(1) Immanuel Levinas
(2) Morleau-Ponty

(3) Rorty

(4) Nietzsche

Faffas & o fFaq 9% Bar & =twfear @it =7 o7 §ifes § g & o
ZHTT Il 2l gAT T =AREFAEar &1 Ag 87

q.
(1)  Fhque At @ bt
(3) TTEr (4) fresr

[Question ID = 5879][Question Description = Q34_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22703]
2. 2 [Option ID = 22704]
3. 3 [Option ID = 22705]
4. 4 [Option ID = 22706]

Correct Answer :-
e 1 [Option ID = 22703]

35) Consider the following statements with reference to Arthasastra.
A. The aim of the polity is the yogakshema and the rakshana of the subjects.

B. Yogakshema is not the responsibility of the state.

C. Curbing of the matasyanyaya within the State is advocated.

Choose the correct answer from the options given below:

(1) A only

(2) A and C only
(3) Conly
(4)A,Band C

FmET & 7 ey A Ffafaa sua ® T S 2

A UoETd @ R Wl & GEEH H IETOT e B
B. ONWEIA Ued & Scaleidcd g £

C. T & ofiat AT W G0 FT GERR {
A R T Rwodt F F GE Iee T

(1) thao A

20 FaaAsRC

SR &N
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[Question ID = 5880][Question Description = Q35_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1.1

[Option ID = 22707]
2.2

[Option ID = 22708]
3.3

[Option ID = 22709]
4. 4

[Option ID = 22710]
Correct Answer :-
o 1

[Option ID = 22707]

36) Who among the following advocated upeksha as a supreme virtue?

(1) Yudhisthira
(2) Kamandaka
(3) Kautilya
(4) Narada

frafafaa & foaet 39aT &l WA TeaIoT & &9 A AT ¢ ?

(1  gEEst
2) FHGR
(3 @it
(4) IR

[Question ID = 5881][Question Description = Q36_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22711]
2. 2 [Option ID = 22712]
3. 3 [Option ID = 22713]
4. 4 [Option ID = 22714]

Correct Answer :-
e 1 [Option ID = 22711]

37) The purpose of affirmative action is:

(1) To promote historic inequalities
(2) To bridge historic inequalities
(3) To support absolute freedom
(4) To curb historic diversity

freneicas/ADRICHD Tca (TBHfea vagrer) o 339 T T 37
(1) cftreIRies RTATGIAT3I BT YicATEaT Soll

(2) o srismeranii d did sids JATH Dol

(3) gof Facicen @1 raefor wzom

(4) i fiferansii uz Briqur wen

[Question ID = 5882][Question Description = Q37_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22715]
2. 2 [Option ID = 22716]
3. 3 [Option ID = 22717]
4. 4 [Option ID = 22718]

Correct Answer :-
e 1 [Option ID = 22715]



38) Which one of the following is not true with reference to Ecofeminism?

(1) It explores the relationship between nature and humans.

(2) It addresses the parallels between oppression of nature and oppression of women.

(3) It considers a separation between nature and culture to be the root source of all planetary ills.
(4) It criticizes the oppressing role of nature on women.

Frafafas 5 T &9 UF I ET T9E7E (ecofeminism) F T=F H T80 Tar 22

]

(1) 289 9gid =T A4 & @79 q9497 &7 997 F9491 2

(2) THH UEA F FHA AT Afgar Iedied 1= gHEaEn &7 AvAT 2 2
(3)  Ag AT TEE TEEAT BT AT THG ML TERIT kT & AT A 97 GEE w7ar g
()  Tg wEH geT AEArE ® FmT &I hr qEEr & A=A #7ar g

[Question ID = 5883][Question Description = Q38_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22719]
2. 2 [Option ID = 22720]
3. 3 [Option ID = 22721]
4. 4 [Option ID = 22722]

Correct Answer :-
e 1 [Option ID = 22719]

39) The problematic separation between a subject and an object that properly belong together is conceptualized in
Marxism as;

(1) Objectification
(2) Alienation

(3) Fetishism

(4) Estrangement

HHEER F @ugHy 9= S0 99E F9OH UE AT TEAT 2, AR A AFEAHE UIEI El
TrEa T FTOH ¢

(1) FEIHELT
(2) IECEEE]
3 PEIEAEE 10

(4) AT

[Question ID = 5884][Question Description = Q39_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22723]
2. 2 [Option ID = 22724]
3. 3 [Option ID = 22725]
4. 4[Option ID = 22726]

Correct Answer :-
e 1 [Option ID = 22723]

40) As per the politics of recognition of Charles Taylor, which one of the following it true.

(1) It advocated politics of difference that emphasized that everyone owed recognition of the unique identity.

(2) It advocated politics of indifference that emphasized that everyone owed recognition of the unique identity.

(3) It advocated politics of difference that emphasized that everyone owed recognition of the universal shared identity.
(4) It emphasized a move from recognition to non-recognition

AT ToR T ATl T Tetelita F IR Ffafaa & & @l o= wr §
(1) =8 AddE &7 ToAig & A4 Far = &F 50 ad W O &a1 ¢ & @i =afea
afise gg=e T ARIOT S URE §

(2) =H SeRiTar & USHta & aHdgT Ry S fr 57 oaa W oger gar § o el
=g faférse aga= fr AvTar F 9°RE §

(3) ST Hd¥ & Uid & THYS Far &1 50 g W ad aar ¢ & a3 =g
df9as s7 T T T T ugEe HF ATdr F ORE
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[Question ID = 5885][Question Description = Q40_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1 [Option ID = 22727]
2 [Option ID = 22728]
3 [Option ID = 22729]
4 [Option ID = 22730]

A W N -

Correct Answer :-
e 1 [Option ID = 22727]

41) As per the axioms of Quantity of a categorical syllogism;

(1) The middle term must be undistributed at least once
(2) The middle term must be distributed in all cases

(3) The middle term must be distributed at least once

(4) The middle term must be undistributed in all the cases

Aofiag deharerd & ORATT & HFIET & FFTER

(1) #=9 9g #AEWES §7 § &5 J &7 UF o) AAdd gram
(2) 7= 9 O3l =T A 3aeas &9 7 TaaRa g

(3) AT Ug 3ETS O A &H U A Uh IX faaitd g
4) #=g ug WETE §1 F g &Er 7 sfaaia gen

[Question ID = 5886][Question Description = Q41_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1 [Option ID = 22731]
2 [Option ID = 22732]
3 [Option ID = 22733]
4 [Option ID = 22734]

AW N =

Correct Answer :-
e 1 [Option ID = 22731]

42) Which one of the following is the correct combination of moods of the second figure?

(1) Camestres, Baroco, Cesare and Festino
(2) Camestres, Baroco, Celarent and Festino
(3) Camestres, Celarent, Cesare and Festino
(4) Camestres, Baroco, Cesare, Ferio

cE HpTd A Al 1 HArAfaf@a & Sl ar v @@ T g 2
(1)  FEEE, UL S 3R Bieasr

(2)  FHEE, W, Tene AR Hieaar

(3) AT, o, TEY 3R BiEgar

(4)  HHATA. WP, FE¥ HE

[Question ID = 5887][Question Description = Q42_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1.1

[Option ID = 22735]
2.2

[Option ID = 22736]
3.3

[Option ID = 22737]
4. 4

[Option ID = 22738]
Correct Answer :-
o 1

[Option ID = 22735]

43) Which one of the following represents the relation between the following propositions?



No dogs are cats.
Some dogs are cats.

1) Subcontrary (2) Contradictory
3) Subaltern (4) Contrary

Fafefaa Teart F = 71 7= 5 Aeer § =49 gar g ?

1) - (2) TEmEmETT
(3) Ut (4) fE9E

[Question ID = 5888][Question Description = Q43_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22739]
2. 2 [Option ID = 22740]
3. 3 [Option ID = 22741]
4. 4[Option ID = 22742]

Correct Answer :-
e 1 [Option ID = 22739]

44) Which one of the following is a valid inference?

(1) If p then q, p, therefore q.

(2) If p then q, not q, therefore p.

(3) If p then q, not p, therefore not q.
(4) Either p or q, p, therefore not q.

Fafafas § @ 519 % 99 AW 2?7
(1) = paa qT pE 9T qF

(2) Ffg pdd q%ffﬁﬁ q T pg
(3) Qﬁpﬂﬂ'qg,"rﬁﬁp,ﬁ:ﬁﬁﬁq%
4 ATdAT pAIAT q.p e I 7 & g8

[Question ID = 5889][Question Description = Q44_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22743]
2. 2 [Option ID = 22744]
3. 3 [Option ID = 22745]
4. 4 [Option ID = 22746]

Correct Answer :-
e 1 [Option ID = 22743]

45) Which one of the following is a tautology?

M®PEVa>p

(2) (P2 q) V(@D p)
3)p2q

4 (Pe-qVp

frfafaa # & #la v geefaa &2

1 (pva)op
@ (poa)vie>p)
B pog

4 (pg)vp

[Question ID = 5890][Question Description = Q45_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22747]



2. 2 [Option ID = 22748]
3. 3 [Option ID = 22749]
4. 4 [Option ID = 22750]

Correct Answer :-
e 1 [Option ID = 22747]

46) Consider the following statements with reference to the distribution of the terms of the Categorical propositions?

A. Predicate term of the Negative propositions is distributed.
B. Subject term of the particular propositions is undistributed.
C. Subject term of the universal propositions is distributed.
Choose the correct answer from the options given below:

(1) A only

(2) A and B only
(3) B only
(4)A,Band C

forsurferen gferstedl @ ucl 3 caradar (Bediegrel) @ e 3 forarfeiRaa wuell U kR BRI
A. SIPRICHD aasara=it DI fIERI UG AT BIdr 3.
B. faduIcH®d aasarrii o1 s2eu ug s S 3.

C. ardiifdres adsararil o1 3239 U =Id adr 3.

ol R o1 Riccul 3 3 & Riecdl 3 3 78 32 gfore:
(1) Baa A

(2) daa A siiz B

(3) daar B

(4) A, Bz C

[Question ID = 5891][Question Description = Q46_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1.1

[Option ID = 22751]
2.2

[Option ID = 22752]
3.3

[Option ID = 22753]
4. 4

[Option ID = 22754]

Correct Answer :-
o 1

[Option ID = 22751]

47) Consider the following syllogism and mark the correct code.

Some dogs are friendly
No friendly animals bark
Therefore, No dogs bark

(1) it is a valid syllogism (2) Commits the fallacy of illicit major

3) Commits the fallacy of four terms (4) Commits the fallacy of illicit minor

T T o
Flg A Faaq Fma7 AqiFT T2l 2

(1) 95 U% 99 =H=aHE g (2) =99 q29 U% HEMY HG Fal g
(3) AW 9= F IAT KT Tl g (4) #Eg TS TF FT AT KT FAl g

[Question ID = 5892][Question Description = Q47_03_Philosophy_SHAAN_20NOV21_Shift2_S1]



1 [Option ID = 22755]
2 [Option ID = 22756]
. 3 [Option ID = 22757]
4 [Option ID = 22758]

A WN -

Correct Answer :-
e 1 [Option ID = 22755]

48) The contraposition of which one of the following propositions is not a valid inference?
(1) Universal Affirmative proposition (2) Universal Negative proposition

3) Particular Affirmative proposition (4) Particular Negative proposition

Fraffad aaart § T & 0% Tauidad U% 98 A a5l 27

(1) qTEATHE AHETHE dhA T (2) WATEHIEE TR T
(3) HTATIT THETHT THaTHT (4) HATATIT THEEIHT THATEHE

[Question ID = 5893][Question Description = Q48_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22759]
2. 2 [Option ID = 22760]
3. 3 [Option ID = 22761]
4. 4 [Option ID = 22762]

Correct Answer :-

e 1 [Option ID = 22759]

49) If two standard form categorical propositions with the same subject and the same predicate are related in
such a manner that if one is undetermined, the other must be undetermined, what is their relation?

(1) Contrary (2) Sub-contrary

(3) Sub-altern (4) Contradictory

Al AATeT 3Z9A el AlATe! fIERT drcl <1 Aol WU [oRUST ddSdraRr 531 WU d At 3 &l afe v sifsif2ura 8 dr garan it sraea &t sifoifaa
abet, Al oI dia a arfdbd AFaoer 3?7

(1) fadla (2) su-Rasia

(3) IurgRit (4) =maras

[Question ID = 5894][Question Description = Q49_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22763]
2. 2 [Option ID = 22764]
3. 3 [Option ID = 22765]
4. 4 [Option ID = 22766]

Correct Answer :-

e 1 [Option ID = 22763]

50) Given below are two premises (I and Il). Four Conclusions are drawn from them. (A, B, C and D).
Select the code that indicates validly drawn conclusion(s) only (taking the premises individually or jointly).

Premises:
I. Most of the Students are honest.
Il. Most of the girls are students.

Conclusions:

A. Most of the girls are honest.

B. Most of the honest persons are students.
C. Most of the students are girls.

D. Most of the honest persons are girls.

Choose the correct answer from the options given below:
(1) A, B and C only
(2) B and C only

(3) C and D only
(4) A and D only

s g1 R aE (13K IDfEe aw § 1 3a@ =R faseny faerer arv § I(AB.CD) I 38 &e
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B.  3ifiied: SaweR o fagari g &)
Cc.  iferpred: facarel asfRar gidr

D. HiESYE: SAWSK o ostedl gid 2l
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[Question ID = 5895][Question Description = Q50_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22767]
2. 2 [Option ID = 22768]
3. 3 [Option ID = 22769]
4. 4 [Option ID = 22770]

Correct Answer :-
e 1 [Option ID = 22767]

51) "Being, knowledge and communication are all impossible" - who holds this view ?
(1) Socrates (2) Plato

3) Gorgias (4) Aristotle

"Jeaed A 3R TFEwer @ swa € -an ST RedT g

L g (2) weid
(3) e (4) 33Eq

o

[Question ID = 5896][Question Description = Q51_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22771]
2. 2 [Option ID = 22772]
3. 3 [Option ID = 22773]
4. 4 [Option ID = 22774]

Correct Answer :-
e 1 [Option ID = 22771]

52) "Oak tree is already there in the Oak seed though not in the manifest form" This is view of
(1) Socrates (2) Plato
3) Aristotle (4) Thales

" F U5 3F & AT A 9@ § @ Bed gar § 9@ Te scgdd @ # g § 96
Ao e 82

(1)  gHud 2) wIer

=

(3) g 4 97

o

[Question ID = 5897][Question Description = Q52_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22775]
2. 2 [Option ID = 22776]
3. 3 [Option ID = 22777]
4. 4 [Option ID = 22778]



Correct Answer :-
e 1 [Option ID = 22775]

53) Which of the following statements are true with reference to Plato? Mark the correct code:

A: Plato rejected the view that knowledge is opinion
B: Plato said that artists should be banished from the country
C: Plato said that everything is subjective.

(1) A and B are true
(2) B and C are true
(3) Cand A are true
(4) C alone is true

@ﬁﬂ?mﬁﬁmﬁﬂ@ﬁmﬁﬁﬁaﬁﬁwﬁﬁ?ﬂﬁﬁﬁﬁ%ﬁﬁ:
A e o 59 f9uR & @se o [ AT @A §
B. Tolel o Jdram § o SenehRl & o2 d HdiEd ¢ &ar @pT

€ corel & aaran T w@sf die Twafase §
1) AskBaEGE @ B3R CufrE
3 Cc3tAThE (4) C 37helm TET &

[Question ID = 5898][Question Description = Q53_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1.1

[Option ID = 22779]
2.2

[Option ID = 22780]
3.3

[Option ID = 22781]
4. 4

[Option ID = 22782]

Correct Answer :-

e 1
[Option ID = 22779]
54) Which of the following statements are true with reference to Heraclitus?
A. Air is the fundamental stuff of the universe.
B. The real remains the same forever.
C. Strife is the father of all the things.
D. A thing is an identity of opposites.
(1) A and B are true
(2) A and C are true

(3) C and D are true
(4) A and D are true

tUiaFded & Hecdl A ArdAfaad ®ual # ®ld d AT Tol o 7
A agsEAws & A T §

B arcdias 3@ gaven & o @ g g

C: Tug ®fr aegatt &1 AaF §

D:  wwmaeg fawed & ogEe #

1) AIRBEIE @ AsRCaE

3 CcHRDEdE 4 AR Dag g



[Question ID = 5899][Question Description = Q54_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22783]
2. 2 [Option ID = 22784]
3. 3 [Option ID = 22785]
4. 4 [Option ID = 22786]

Correct Answer :-
e 1 [Option ID = 22783]

55) “Conventional morality is man-made; it is invented by the weak. Might is right”. Who holds this view?
1) Socrates (2) Plato
3) Sophists (4) Marcus Aurelius

"R Afdedr Aea WA §: g Fdol garr e w1 S ordr sad e (A
51 T5e)"ag 3faa T g7

(1) ESiG (2) Teler

2

(3) wifhe (4) AT NI

[Question ID = 5900][Question Description = Q55_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22787]
2. 2 [Option ID = 22788]
3. 3 [Option ID = 22789]
4. 4 [Option ID = 22790]

Correct Answer :-
e 1 [Option ID = 22787]

56) Which statements among the following are correct?

A. St Augustine was a theist

B. St Augustine closely follows Plato
C. St Augustine was a sceptic

D. St Augustine was an agnostic

(1) A and B are correct
(2) B and C are correct
(3) C and D are correct
(4) A and D are correct

fArafeiad el 3 & Sia daar g2

A HT APRTRA Afeds O

B. e HITETSH o Tolel ol g 3 Xor fohar
C e HPREISA Hegdial o
D. Te FENCS Feader o

O AiRBadd @ Bikcwrd
@ CixDudd @ AsRDagr g

[Question ID = 5901][Question Description = Q56_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22791]
2. 2 [Option ID = 22792]
3. 3 [Option ID = 22793]
4. 4 [Option ID = 22794]

Correct Answer :-
e 1 [Option ID = 22791]



57) “Only in God there is no composition at all, his essence is purely and simply his act of existence”.
This is acceptable to whom?

(1) St Augustine

(2) St Thomas Aquinas
(3) St Anselm

(4) Plotinus

"Fad Seal A fIFs off BHECT deaadie U WR faye v ik siRaca @ Faa
IHF FcT ¢ 5 e wieR GRar g2

(1) T AE=EA (2) e aiaw ofaaas
(3) T Tereld (4) Tellfaeaa

[Question ID = 5902][Question Description = Q57_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22795]
2. 2 [Option ID = 22796]
3. 3 [Option ID = 22797]
4. 4 [Option ID = 22798]

Correct Answer :-
e 1 [Option ID = 22795]

58) Mark this correct answer with reference to Leibnitz

A. In Leibnitz monism and pluralism are reconciled

B. In Leibnitz idealism and realism meet

C. In Leibnitz, utter materialism is accepted

D. ‘Law of sufficient Reason’ is Leibnitz’s defence of monadology.

(1) A and C are true
(2) B and C are true
(3) C and D are true
(4) A, B and D are true

dafdiest & Hees! # T Scat Bl Miegd
A dafdce A wdRatag 3R agae $ @efd §
B: dafies # yggar it qurdarg amr srarg
C.  lafdes § X i e

D: “gdid FROT & aA "dafies & Ferang S & el o
1 AdRCHEIE @ BiRCHTE
@ C3xDEE @ ABIRDESE

[Question ID = 5903][Question Description = Q58_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22799]
2. 2 [Option ID = 22800]
3. 3 [Option ID = 22801]
4. 4 [Option ID = 22802]

Correct Answer :-
e 1 [Option ID = 22799]

59) “This world created by god is the best of all the possible worlds” - who propounds this view?

(1) Descartes
(2) Spinoza
(3) Leibnitz
(4) Locke



"$3aqX c@NT dioid ag fawd &l §e9@ g U arel fded &1 §a94s ¢ 59 fa9R & widded
Teheel foham ?

(1) & (2) TEaerar
(3) oEdere (4 <

[Question ID = 5904][Question Description = Q59_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22803]
2. 2 [Option ID = 22804]
3. 3 [Option ID = 22805]
4. 4 [Option ID = 22806]

Correct Answer :-
e 1 [Option ID = 22803]

60) “The events are so organized in this universe that there is no room for chance”- this is advocated by whom?

(1) David Hume
(2) Spinoza

(3) Heraclitus
(4) Anaximenes

"SH FEAUS H HeAIU Sodl cadtedd ¢ TR Il @aerd fow w5 oft Tue A8 § o uat
foreer forar £2

(1 sfsegA (2) Fegarar
(3) guldeeq 4 taEEafae

[Question ID = 5905][Question Description = Q60_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22807]
2. 2 [Option ID = 22808]
3. 3 [Option ID = 22809]
4. 4 [Option ID = 22810]

Correct Answer :-
e 1 [Option ID = 22807]

61) Match List | with List I

List | List Il

(Doctrines) (Philosophers)
A. Subjective Idealism I Spinoza
B. Mind-body Dualism 1. Leibnitz
C. Pantheism lll. Descartes
D. Monadology IV. Berkeley

Choose the correct answer from the options given below:
(1) A-11,B-IV,C-Il, D-1I (2) A-lv,B-lll,C-l, D-Il
3) A-I,B-l,C-IV, D-lI 4 A-L,B-ll,C-lll, D-IV

= THEh I g B

et -1 (R ) e -II @ )
Afavafas gearE T Rt

B #eF-2iT et 11 feraferst

C wefeaare 133

D Fepyae IV et

s feu av fashedt # & g Icc 9fAT ¢
1y A TT. P- TV OC_-11T DO-1 ™ ATV - B.IT CT1 DIOX



(3) AIlI.BI.C-IV, D-III 4 A-LB-II.C.II, D-IV

[Question ID = 5906][Question Description = Q61_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22811]
2. 2 [Option ID = 22812]
3. 3 [Option ID = 22813]
4. 4 [Option ID = 22814]

Correct Answer :-
e 1 [Option ID = 22811]

62) “All essential truths about the world are ascertainable through reason”- This is the basic contention of?

(1) Kantianism
(2) Rationalism
(3) Empiricism
(4) Mysticism

faed & ar A wslt AgcayYl Ted Ifad caRT gl ofenel Ao ¢ ag faarg faeer §?

1) iedrg (2) cRgigaE
(3  slezangenfas (4 TrEaK

[Question ID = 5907][Question Description = Q62_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22815]
2. 2 [Option ID = 22816]
3. 3 [Option ID = 22817]
4. 4 [Option ID = 22818]

Correct Answer :-
e 1 [Option ID = 22815]

63) Who propounded Epistemological dualism?

(1) Berkeley
(2) Locke

(3) Descartes
(4) Democritus

el ATHARTT gddarg &1 widuiesT faar?
(1) & (2) ww
3 & (4) EHfhew

[Question ID = 5908][Question Description = Q63_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22819]
2. 2 [Option ID = 22820]
3. 3 [Option ID = 22821]
4. 4 [Option ID = 22822]

Correct Answer :-
e 1 [Option ID = 22819]

64) Who among the following propounded the doctirine of Nominalism?
(1) Berkeley
(2) Kant

(3) Descartes
(4) Leibnitz

i & e aFaEmae & Gea & ufaoes Fa?

(1) el (2) e

e - a oa S W o
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[Question ID = 5909][Question Description = Q64_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22823]
2. 2 [Option ID = 22824]
3. 3 [Option ID = 22825]
4. 4 [Option ID = 22826]

Correct Answer :-
e 1 [Option ID = 22823]

65) Which of the following are true, with reference to Kant? Mark the correct answer.

A. Space and time are apriori forms of perception
B. The existence of god can be proved by the ontological argument
C. The Noumenon cannot be known

(1) Only A is true

(2) Only A and B are true
(3) Only A and C are true
(4) Only B and C are true

Flee & Tegd A Arafaf@a & #la @ I 82 o 3cor =1 Rfvga &1
A @ 3 @rer I@ary & wesEHaE T@Ed §

B.  Wdd- Hedl Ifod c@m $¥a¥ & #feded i wenforg foRam o wehar §
C. TIT-TeOaT-Hd &l AT dgl =1 Hebdl

A e are Rwedt # T o) 9
1) Fad AT

2 ad AR BE

(3) ae AR Cadr &

4 FaaBiIR CHETE

[Question ID = 5910][Question Description = Q65_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22827]
2. 2 [Option ID = 22828]
3. 3 [Option ID = 22829]
4. 4 [Option ID = 22830]

Correct Answer :-
e 1 [Option ID = 22827]

66) “Artis a form of intuition”. This is acceptable to whom?

(1) Kant
(2) Hegel
(3) Spinoza
(4) Leibnitz

Tl 39T & UF U § "Of e T §?
(1) @< (2) gl
(3) Teusar (4 omsfafee

[Question ID = 5911][Question Description = Q66_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22831]
2. 2 [Option ID = 22832]
3. 3 [Option ID = 22833]
4. 4 [Option ID = 22834]

Correct Answer :-
e 1 [Option ID = 22831]



67) Which of the following statements are acceptable with reference to Leibnitz? Mark the correct code.

A. Monads are windowless
B. Monads are physical points
C. Monads are mathematical points

(1) A and B are correct
(2) A and C are correct
(3) B and C are correct
(4) A only is correct

asfaftcs & Teedt § Pfef@a & o9 & Fya e §2 a8 3o = Rfega s
A e TraEd= &

B.  faqy sifow RgE
C.  fEey aifvidhy fag &
1) AR BEEE
@ AsRCcage
3 BiRCugE
4  Fad AWE B

[Question ID = 5912][Question Description = Q67_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22835]
2. 2 [Option ID = 22836]
3. 3 [Option ID = 22837]
4. 4 [Option ID = 22838]

Correct Answer :-
e 1 [Option ID = 22835]

68) Who strongly advocated Determinism?

(1) Bertrand Russell
(2) Spinoza

(3) David Hume

(4) Protagoras

fhae faeggare &1 "o didh 9 9aT ferar ?

1 s P @) fegerar
() sfas egm (4) weriRg

[Question ID = 5913][Question Description = Q68_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22839]
2. 2 [Option ID = 22840]
3. 3 [Option ID = 22841]
4. 4 [Option ID = 22842]

Correct Answer :-
e 1 [Option ID = 22839]

69) To which of the following views, Descartes did not subscribe? Mark the correct code.

A. Theory of Innate ideas

B. Tertium quid

C. Representative theory of knowledge
D. Interactionism

(1)Aand B
(2)Aand D
(3)Band D



(4) C only

fArfafaa e faar & St Jgad =g gld & 2 @8 Fic 1 Fiega #Y
A. g 9cay & fagid

B. 3¥Ad 9
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3y B3IRD (4) Fad C

[Question ID = 5914][Question Description = Q69_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22843]
2. 2 [Option ID = 22844]
3. 3 [Option ID = 22845]
4. 4 [Option ID = 22846]

Correct Answer :-
e 1 [Option ID = 22843]

70) According to whom human mind is only receptive and not creative?

(1) Descartes
(2) Locke

(3) Berkeley
(4) Leibnitz

& AR AWa 9f& Sao AT § 7 R SelecHe?

(1) e (2) o
(3) T (4 =R

[Question ID = 5915][Question Description = Q70_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22847]
2. 2 [Option ID = 22848]
3. 3 [Option ID = 22849]
4. 4 [Option ID = 22850]

Correct Answer :-
e 1 [Option ID = 22847]

71) Mark the correct option of the following:

(1) Hegel is an absolute idealist and Hume a rationalist.

(2) Hegel’s is Dialectical method and Descartes doctrine is Ontological Dualism.

(3) Hegel toned down Kant’s philosophical agnosticism and Locke is a consistent empiricist.
(4) ‘The real is the rational’ is Hegel’s statement and Berkeley’s stand is in materialism.

el faeT w1 Afga 1

1) e v R gegard) AR egA v addigad ¢

@) & T cdercAs Yoner 3R S F FHEd Soar-AART gddds §

(3 B & Fec & giEifEd FFTdc W U T & A e § o3k o e @ag
Slraaneiasd © |

(@) T FRAEE § T & Fud 3 ado sifdea & wetr §



[Question ID = 5916][Question Description = Q71_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22851]
2. 2 [Option ID = 22852]
3. 3 [Option ID = 22853]
4. 4 [Option ID = 22854]

Correct Answer :-
e 1 [Option ID = 22851]

72) “Whenever we know any object, there is an idea of that object in our mind through which we know that object” What
does this statement imply?

(1) Idealistic theory

(2) Representative theory of perception
(3) Realistic theory

(4) Scepticism

o wRligd fanl avg @ A garg o gHAR AfSase F 39 and & S & el
fAfed GYaT & Toes ATeTHd & g 36 a6 H S U §SH FUa A T Iedieied § 2

1) weagad e

(@)  3adr & uiAfruEcHAs B
(3 e fEe

@  EeaE

[Question ID = 5917][Question Description = Q72_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22855]
2. 2 [Option ID = 22856]
3. 3 [Option ID = 22857]
4. 4 [Option ID = 22858]

Correct Answer :-
e 1 [Option ID = 22855]

73) Which of the following is approved by David Hume?

A. Relations of ideas

B. Matters of fact

C. Unperceived substratum

D. Rejection of the doctrine of Causation

(1)A,BandD
(2) Aand D
(3)Band C
(4) Aand C

fr=afad 3 & 58 23R e camn Aeaar & 71 P
A Il T TFaeRT

B. s faww

C. 3IETad 39T

D. SRESRU-AE & f&gid &1 @34

() A.B3kD 2) AdRD
(3 B3RC 4 A3RC

[Question ID = 5918][Question Description = Q73_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22859]
2. 2 [Option ID = 22860]
3. 3 [Option ID = 22861]
4. 4 [Option ID = 22862]

Correct Answer :-
e 1 [Option ID = 22859]



74) Mark what is true of the following statements, with reference to Kant

A. Knowledge is limited to the phenomenon

B. The Noumenon is beyond knowledge

C. Phenomenon is the appearance of the Noumenon

D. The categories of understanding are twenty in number

(1) A and D are true
(2) B and D are true
(3) C and D are true
(4) A, B and C are true

Flec & Tegd & rafofaa Fa=i 7 4 ot 9f1 & .39 Rfega &2
A A aRgesnsT aw S d@fT

B. T SeT-ad A W §

& afteear uca TRUs-ad & Udhed §

D.  gRewcardr sifedl wea A & §

(1) Ak Dagr & 2) BikRDwmEr g
(3) CikDmEr g 4 ABiRCTE

[Question ID = 5919][Question Description = Q74_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22863]
2. 2 [Option ID = 22864]
3. 3 [Option ID = 22865]
4. 4 [Option ID = 22866]

Correct Answer :-
e 1 [Option ID = 22863]

75) Mark what is true of the following statements with reference to Kant
A. Kant rejects the traditional proofs for the existence of god.

B. Kant accepts space and time as transcendentally real.

C. The categorical Imperative is a moral maxim.

D. Kant’s book Critique of judgement is a work of moral principles.

(1) A and B are true

(2) B and C are true

(3) C and D are true
(4) A and C are true

Fee & FegH A ArATaiad &= J 5§ ¢, 39 Afega &

A e 5y & HEdcd & T Bw o arel aiafe gl & @sd &dr & |
B.  @hc @ AR Fro # wapiias aus & § F AAr G ¢

C. e gy v HAfaw afed §

D. @l & Jedd a1 & AT s Rardr @ fore 715 &
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2 Bikcafrg

3 c3ikDEdE
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[Question ID = 5920][Question Description = Q75_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22867]
2. 2 [Option ID = 22868]
3. 3 [Option ID = 22869]
4. 4 [Option ID = 22870]

Correct Answer :-
e 1 [Option ID = 22867]

76) According to the Jaina ethics which of the following qualities (gunas) does the jiva possess?

A. Caitanya (Consciousness)
B. Sukha (Bliss)

C. virya (Virtue)

D. Sreyas (Lasting good)

(1) A, B and D Only
(2) A, B and C only
3) A and D only
(4) A and C only

S AT & 3R Sia Frfafad & #iF F ot & g9 &

A e
B. ww
c &
D. A

(1) aad ABxHRD
(2) @ad AB3RC
(3) ae AR D

4) whae A3k C

[Question ID = 5921][Question Description = Q76_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 3 [Option ID = 22873]
2. 4 [Option ID = 22874]
3. 1 [Option ID = 22871]
4. 2 [Option ID = 22872]

Correct Answer :-

e 1 [Option ID = 22871]

77) Which of the following statements is true regarding theory of karma advocated in Classical theories of Indian Ethics?
A. The karma doctrine requires that man's own 'character’ be his own 'destiny’.

B. An ethical agent’s past actions are responsible for his/her present joys and sorrows.
C. A person’s present is determined by his/her past.

D. Human beings are free agents

E. A person’s future is not determined by the present

(1) A, B and C only

(2) A, B, C and D only

(3) A, B, Cand E only

(4)A,B,C,DandE

AR FfifeRme & e (Ferfd) fedr & sl &6 fea & v #7 Gfatea
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[Question ID = 5922][Question Description = Q77_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1.1

[Option ID = 22875]
2.2

[Option ID = 22876]
3.3

[Option ID = 22877]
4. 4

[Option ID = 22878]
Correct Answer :-
e 1

[Option ID = 22875]

78) Given below are two statements

Statement| : We can 'solve’ the problem of evil and inequalities of individual happiness and unhappiness in a theistic
system only if we assume the karma hypothesis.

Statement Il : In a non-theistic system like Buddhism, karma is posited in order to explain the same inequalities between
one man's potential and another.

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect
(4) Statement | is incorrect but Statement Il is correct

A 2 T few aw §

FUd — [ © YA IaedT # hadl $i Gheddl Hl Al ol §H ddiade YHeddl AR

STURIToTT o 31 Td AT 61 THACAT S TAT & Tehd © |
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[Question ID = 5923][Question Description = Q78_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22879]
2. 2 [Option ID = 22880]
3. 3 [Option ID = 22881]
4. 4 [Option ID = 22882]

Correct Answer :-
e 1 [Option ID = 22879]
79) “The mind, though diversified by countless impressions, is there in order to provide experience and liberation for

something else, viz. the soul; this follows from its composite nature.” This statement pertains to which of the following
schools of Classical Indian Philosophy?

(1) Nyaya
(2) Mimarisa
(3) Jainism
(4) Samkhya

A FeA HAed ordt canr fafafada, B e avg Huia e # a3 gfad
UGl F & HA A a6l ¢ O6 6 WEAA UHld & SHE ST XAl § g de
A T g fr Heatafaa & g omar & gwafaa §2
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(3) =i gd 4) wEm

[Question ID = 5924][Question Description = Q79_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22883]
2. 2 [Option ID = 22884]
3. 3 [Option ID = 22885]
4. 4 [Option ID = 22886]

Correct Answer :-
e 1 [Option ID = 22883]

80) Which of the following is correct according to Samkhya philosophy?

(1) The soul is conscious and completely inactive

(2) Soul is physically inactive but mentally active

(3) Soul is not conscious but mentally active

(4) Soul is inactive but can influence both body and mind

T &R & 3R foad # die Her &2

(1) 3cAT a9 g 3R aoiaEr sl §
(2) oA Hifas w9 & 3Efeg § ofea AETES &9 & afeg §
(3)  3IcHT ©icd =IgT § olfdhed AlIOS 0 & TfhT § |

@) 3ncAT 3afEa § ofea gg 9w 3k AaeEt & vsnfag &t Gear ¢ 1

[Question ID = 5925][Question Description = Q80_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22887]
2. 2 [Option ID = 22888]
3. 3 [Option ID = 22889]
4. 4 [Option ID = 22890]

Correct Answer :-
e 1 [Option ID = 22887]

81) Arrange the following in chronological order with reference to Vaisesika philosophy?

A. Effort (prayatna)
B. Knowledge (buddhi)



C. Subliminal impressions (Samskara)
D. Virtue (dharma)

Choose the correct answer from the options given below

(1)B,C, D, A
(2)A,B,D, C
(3)B,A, D, C
(4)B,C, A, D
AW et & Hegal A fFAfoli@d I FolhATTER cgafead Hifee?
A WS
B. g (famm)
C. HERTT

D. YAl (&FHdT)

) BCDA
2 ABDC
3 BADLC

4 B.CAD

[Question ID = 5926][Question Description = Q81_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22891]
2. 2 [Option ID = 22892]
3. 3 [Option ID = 22893]
4. 4 [Option ID = 22894]

Correct Answer :-

e 1 [Option ID = 22891]

82) “The disappearance of incorrect knowledge (mithyajiana) is followed by the disappearance of the faults (dosa), this in
its turn by the disappearance of activity (pravrtti), this by the disappearance of birth (janman), this again by the
disappearance of suffering.” This statement pertains to the text of which of the following schools of Indian Philosophy?

(1) Nyaya

(2) Mimarisa

(3) Jainism

(4) Carvaka
"FTA S ellT & SN & Wl G@RT g§ 39l WAl & §AT W Wdicd & oY Sani g
SIeH & WY garT I T se & ollT Ganl 3T fohar Sl 8 A sl AR el @l

T e & R R & wee §

(1) === (2) HraAmRm

(3)  ShEE (4) =

[Question ID = 5927][Question Description = Q82_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22895]
2. 2 [Option ID = 22896]
3. 3 [Option ID = 22897]
4. 4 [Option ID = 22898]

Correct Answer :-
e 1 [Option ID = 22895]



83) Who among the following ethicists argues that the hedonist definition implies that the question “is anything which is
pleasant good?” means the same as the question “is anything which is pleasant pleasant?”

(1) Kant

(2) G E Moore

(3) C L Stevenson
(4) R M Hare

fArAfofad & & fag Aifcereh @ ad fhar & ga@ad aiern & Higan! a5 § & e
" IS A S R gEE uw g H I 6 WA & o ¢ R A #1s avg o e e
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(3) o o Eaad (4) W UH N

[Question ID = 5928][Question Description = Q83_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22899]
2. 2 [Option ID = 22900]
3. 3 [Option ID = 22901]
4. 4 [Option ID = 22902]

Correct Answer :-
e 1 [Option ID = 22899]

84) Given below are two statements

Statement | : According to Rule Utilitarianism an action is right if and only if it conforms to a set of rules the general
acceptance of which would produce the greatest balance of pleasure over pain for the greatest number.

Statement Il : According to Act Utilitarianism an action is right if and only if it produces the greatest balance of pleasure
over pain for the greatest number.

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both statement | and Statement Il are correct

(2) Both statement | and Statement Il are incorrect

(3) Statement | is correct while Statement Il is incorrect
(4) Statement | is incorrect while Statement Il is correct

forgoiferRaa weeil @I eATeIgdd UG AT AR IWRITD faded Pl Joi:
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if¥ra>car Fdetol 3cUool Bidr al.
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[Question ID = 5929][Question Description = Q84_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22903]
2. 2 [Option ID = 22904]
3. 3 [Option ID = 22905]
4. 4 [Option ID = 22906]

Correct Answer :-
e 1 [Option ID = 22903]

85) The statement - "The criminal act is a negation, and punishment is the negation of a negation” - is an expression of



which of the following theories of punishment?

(1) Retributive theory
(2) Reformative theory
(3) Deterrent theory
(4) Preventive Theory

FUd "HWEE FA e T § 3R gus e A @ Tder § "ag gvs & AeafafEa
e g &7 v AT £

(1) fa=srr e 2) HuRIcAS fFaid

(3) [Harond EEa (4) R Faa

[Question ID = 5930][Question Description = Q85_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22907]
2. 2 [Option ID = 22908]
3. 3 [Option ID = 22909]
4. 4 [Option ID = 22910]

Correct Answer :-
e 1 [Option ID = 22907]

86) Which of the following statements are true with regard to ethical thoughts of Locke and Kant?

A. They maintained that the foremost of “the rights of man” is the right to life.

B. They argued that these rights are violated when one commits a crime of taking somebody’s life.

C. They believed that a murderer “forfeits” his own life and therefore deserves to die.

D. They believed that right to life being foremost it can never be taken away even from the criminal.

Choose the correct answer from the options given below:

(1) A, B and C only
(2) A, B and D only
(3) A, Cand D only
(4) B, C and D only

@i 3R Fee & sAfdurei et & gav 7 eafatad sy 7 #la § agrg?
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[Question ID = 5931][Question Description = Q86_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22911]
2. 2 [Option ID = 22912]
3. 3 [Option ID = 22913]
4. 4 [Option ID = 22914]

Correct Answer :-
e 1 [Option ID = 22911]



87) Read the following two statements carefully and choose the most correct option:

Statement | : Kant’s moral theory supports capital punishment.
Statement Il : Supporters of Capital Punishment rest their position on principles of retributive justice and the
appropriateness of society’s moral indignation at murder.

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect
(4) Statement | is incorrect but Statement Il is correct

ofil 31 perer Ru sme 3 :

werel-| : @ic I oifere Rigia gcg-3s @ wrareler Sar 3.
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[Question ID = 5932][Question Description = Q87_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1

[Option ID = 22915]
2.2

[Option ID = 22916]
3.3

[Option ID = 22917]
4. 4

[Option ID = 22918]
Correct Answer :-
e 1

[Option ID = 22915]

88) Read the following two statements carefully and choose the most appropriate option:

Statement | : Charles L. Stevenson regarded evaluative utterances and factual statements as having different logical

characters.
Statement Il : Charles L. Stevenson considered that there could be no logical relationships between evaluative and factual

utterances.

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect
(4) Statement | is incorrect but Statement Il is correct

forgaiferRaa wereil @ exrorydd Uug e AR U faea @Y goi:

Del-: arct ve FEdol of JAIDoI-UID DU Al ALAHD HUcll Dl Biool afbd fRidraarsii A Yb AL
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[Question ID = 5933][Question Description = Q88_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1

[Option ID = 22919]
2.2

[Option ID = 22920]
3.3

[Option ID = 22921]



4. 4

[Option ID = 22922]

Correct Answer :-

e 1

[Option ID = 22919]

89) Which of the following branches of ethics is construed as an inquiry into the meanings and logical properties of the
MORAL TERMS?

(1) Metaethics

(2) Act-Deontology

(3) Rule-Deontology
(4) Conventional Ethics

sfiferonz< bt diar 2l forafciRaa omar ol oifere uct @ 31ef 3iiz Aifdbd farudarsii faeRid sreayur & »u 3 AYfa v srar 3?7
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[Question ID = 5934][Question Description = Q89_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22923]
2. 2 [Option ID = 22924]
3. 3 [Option ID = 22925]
4. 4 [Option ID = 22926]

Correct Answer :-
e 1 [Option ID = 22923]

90) Which of the following statements are true of The Separation Thesis in the area of Business Ethics?

A. Sentences like “X is a business decision” have no moral content

B. Sentences like “X is a moral decision” have no business content

C. Sentences like “X is a business decision” has both moral and business content

D. Sentences like “X is a business decision” have a moral content whereas sentences like “X is a moral decision” may or may
not have business content

Choose the correct answer from the options given below:
(1) A and B only
(2) A and D only

(3) C and D only
(4) B and C only
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[Question ID = 5935][Question Description = Q90_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22927]
2. 2 [Option ID = 22928]
3. 3 [Option ID = 22929]
4. 4 [Option ID = 22930]

Correct Answer :-
e 1 [Option ID = 22927]

Topic:- 03Philosophy_B_New

1) Read the passage and answer the following question:-

The value of philosophy is, in fact, to be sought largely in its very uncertainty. The man who has no tincture of philosophy
goes through life imprisoned in the prejudices derived from common sense, from the habitual beliefs of his age or his
nation, and from convictions which have grown up in his mind without the co-operation or consent of his deliberate reason.
To such a man the world tends to become definite, finite, obvious; common objects rouse no questions, and unfamiliar
possibilities are contemptuously rejected. As soon as we begin to philosophize, on the contrary, we find that even the most
everyday things lead to problems to which only very incomplete answers can be given. Philosophy, though unable to tell us
with certainty what is the true answer to the doubts which it raises, is able to suggest many possibilities which enlarge our
thoughts and free them from the tyranny of custom. Thus, while diminishing our feeling of certainty as to what things are,
it greatly increases our knowledge as to what they may be; it removes the somewhat arrogant dogmatism of those who have
never travelled into the region of liberating doubt, and it keeps alive our sense of wonder by showing familiar things in an
unfamiliar aspect. Philosophy is to be studied, not for the sake of any definite answers to its questions since no definite
answers can, as a rule, be known to be true, but rather for the sake of the questions themselves; because these questions
enlarge our conception of what is possible, enrich our intellectual imagination and diminish the dogmatic assurance which
closes the mind against speculation; but above all because, through the greatness of the universe which philosophy
contemplates, the mind also is rendered great, and becomes capable of that union with the universe which constitutes its
highest good.

“As soon as we begin to philosophize, on the contrary, we find that even the most everyday things lead to problems to
which only very incomplete answers can be given.” With reference to the overall import of the passage, what could be
possibly inferred from this statement?

(1) The ultimate fate of Philosophy is to become decadent in skepticism

(2) Philosophy should rather work to preserve our already existent ken of knowledge

(3) We may never find definite answers to certain questions but philosophers should keep raising questions for their
emancipatory value

(4) Philosophy should stop engaging with questions regarding nature of things
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[Question ID = 5936][Question Description = Q91_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22931]
2. 2 [Option ID = 22932]
3. 3 [Option ID = 22933]
4. 4[Option ID = 22934]

Correct Answer :-
e 1 [Option ID = 22931]

2) Read the passage and answer the following question:-

Value of Philosophy The value of philosophy is, in fact, to be sought largely in its very uncertainty. The man who has no
tincture of philosophy goes through life imprisoned in the prejudices derived from common sense, from the habitual beliefs
of his age or his nation, and from convictions which have grown up in his mind without the co-operation or consent of his
deliberate reason. To such a man the world tends to become definite, finite, obvious; common objects rouse no questions,
and unfamiliar possibilities are contemptuously rejected. As soon as we begin to philosophize, on the contrary, we find that
even the most everyday things lead to problems to which only very incomplete answers can be given. Philosophy, though
unable to tell us with certainty what is the true answer to the doubts which it raises, is able to suggest many possibilities
which enlarge our thoughts and free them from the tyranny of custom. Thus, while diminishing our feeling of certainty as to
what things are, it greatly increases our knowledge as to what they may be; it removes the somewhat arrogant dogmatism
of those who have never travelled into the region of liberating doubt, and it keeps alive our sense of wonder by showing
familiar things in an unfamiliar aspect. Philosophy is to be studied, not for the sake of any definite answers to its questions
since no definite answers can, as a rule, be known to be true, but rather for the sake of the questions themselves; because
these questions enlarge our conception of what is possible, enrich our intellectual imagination and diminish the dogmatic
assurance which closes the mind against speculation; but above all because, through the greatness of the universe which
philosophy contemplates, the mind also is rendered great, and becomes capable of that union with the universe which
constitutes its highest good.

Which of the following statements could be said to be true with regard to the above passage?
A. It presents an argument against dogmatism

B. It presents an argument in favour of scepticism

C. It presents an argument in favour of critical nature of philosophy

D. It presents an argument against the speculative nature of Philosophy

Choose the correct answer from the options given below:

(1) Aand D only (2) A and C only
(3) Cand D only (4) A and B only
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[Question ID = 5937][Question Description = Q92_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22935]
2. 2 [Option ID = 22936]
3. 3 [Option ID = 22937]
4. 4 [Option ID = 22938]

Correct Answer :-
e 1 [Option ID = 22935]

3) Read the passage and answer the following question:-

Value of Philosophy The value of philosophy is, in fact, to be sought largely in its very uncertainty. The man who has no
tincture of philosophy goes through life imprisoned in the prejudices derived from common sense, from the habitual beliefs
of his age or his nation, and from convictions which have grown up in his mind without the co-operation or consent of his
deliberate reason. To such a man the world tends to become definite, finite, obvious; common objects rouse no questions,
and unfamiliar possibilities are contemptuously rejected. As soon as we begin to philosophize, on the contrary, we find that
even the most everyday things lead to problems to which only very incomplete answers can be given. Philosophy, though
unable to tell us with certainty what is the true answer to the doubts which it raises, is able to suggest many possibilities
which enlarge our thoughts and free them from the tyranny of custom. Thus, while diminishing our feeling of certainty as to
what things are, it greatly increases our knowledge as to what they may be; it removes the somewhat arrogant dogmatism
of those who have never travelled into the region of liberating doubt, and it keeps alive our sense of wonder by showing
familiar things in an unfamiliar aspect. Philosophy is to be studied, not for the sake of any definite answers to its questions
since no definite answers can, as a rule, be known to be true, but rather for the sake of the questions themselves; because
these questions enlarge our conception of what is possible, enrich our intellectual imagination and diminish the dogmatic
assurance which closes the mind against speculation; but above all because, through the greatness of the universe which
philosophy contemplates, the mind also is rendered great, and becomes capable of that union with the universe which
constitutes its highest good.

What is being interpreted as liberating nature of philosophy in the above passage?

(1) Pursuit of philosophy explicates the limitations of our customary ways of thinking
(2) Philosophy shows us the limits of our thought

(3) Philosophy helps us preserve our already existent limit of knowledge

(4) Philosophy liberates us by providing us definite answer to metaphysical questions
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[Question ID = 5938][Question Description = Q93_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22939]
2. 2 [Option ID = 22940]



3. 3 [Option ID = 22941]
4. 4 [Option ID = 22942]

Correct Answer :-
e 1 [Option ID = 22939]

4) Read the passage and answer the following question:-

Value of Philosophy The value of philosophy is, in fact, to be sought largely in its very uncertainty. The man who has no
tincture of philosophy goes through life imprisoned in the prejudices derived from common sense, from the habitual beliefs
of his age or his nation, and from convictions which have grown up in his mind without the co-operation or consent of his
deliberate reason. To such a man the world tends to become definite, finite, obvious; common objects rouse no questions,
and unfamiliar possibilities are contemptuously rejected. As soon as we begin to philosophize, on the contrary, we find that
even the most everyday things lead to problems to which only very incomplete answers can be given. Philosophy, though
unable to tell us with certainty what is the true answer to the doubts which it raises, is able to suggest many possibilities
which enlarge our thoughts and free them from the tyranny of custom. Thus, while diminishing our feeling of certainty as to
what things are, it greatly increases our knowledge as to what they may be; it removes the somewhat arrogant dogmatism
of those who have never travelled into the region of liberating doubt, and it keeps alive our sense of wonder by showing
familiar things in an unfamiliar aspect. Philosophy is to be studied, not for the sake of any definite answers to its questions
since no definite answers can, as a rule, be known to be true, but rather for the sake of the questions themselves; because
these questions enlarge our conception of what is possible, enrich our intellectual imagination and diminish the dogmatic
assurance which closes the mind against speculation; but above all because, through the greatness of the universe which
philosophy contemplates, the mind also is rendered great, and becomes capable of that union with the universe which
constitutes its highest good.

According to the passage the phrase - “feeling of certainty as to what things are” - is being associated with which of
following terms used in the passage?

(1) Intellectual Imagination (2) Dogmatism
(3) Speculation (4) Deliberate Reason
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[Question ID = 5939][Question Description = Q94_03_Philosophy_SHAAN_20NOV21_Shift2_S1]
1. 1 [Option ID = 22943]
2. 2 [Option ID = 22944]
3. 3 [Option ID = 22945]
4. 4 [Option ID = 22946]

Correct Answer :-
e 1 [Option ID = 22943]

5) Read the passage and answer the following question:-

Value of Philosophy The value of philosophy is, in fact, to be sought largely in its very uncertainty. The man who has no
tincture of philosophy goes through life imprisoned in the prejudices derived from common sense, from the habitual beliefs



of his age or his nation, and from convictions which have grown up in his mind without the co-operation or consent of his
deliberate reason. To such a man the world tends to become definite, finite, obvious; common objects rouse no questions,
and unfamiliar possibilities are contemptuously rejected. As soon as we begin to philosophize, on the contrary, we find that
even the most everyday things lead to problems to which only very incomplete answers can be given. Philosophy, though
unable to tell us with certainty what is the true answer to the doubts which it raises, is able to suggest many possibilities
which enlarge our thoughts and free them from the tyranny of custom. Thus, while diminishing our feeling of certainty as to
what things are, it greatly increases our knowledge as to what they may be; it removes the somewhat arrogant dogmatism
of those who have never travelled into the region of liberating doubt, and it keeps alive our sense of wonder by showing
familiar things in an unfamiliar aspect. Philosophy is to be studied, not for the sake of any definite answers to its questions
since no definite answers can, as a rule, be known to be true, but rather for the sake of the questions themselves; because
these questions enlarge our conception of what is possible, enrich our intellectual imagination and diminish the dogmatic
assurance which closes the mind against speculation; but above all because, through the greatness of the universe which
philosophy contemplates, the mind also is rendered great, and becomes capable of that union with the universe which
constitutes its highest good.

Which of the following is a crucial contributing factor to the Value of Philosophy according to the author of the passage?

(1) Adhering to certainty (2) Adhering to definite answers
(3) Unquestioned assurance (4) Questions that we raise as philosophers
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1 [Option ID = 22947]
2 [Option ID = 22948]
3 [Option ID = 22949]
4 [Option ID = 22950]
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Correct Answer :-
e 1 [Option ID = 22947]

Topic:- 03Philosophy_C_New
1) Read the passage and answer the following question:-

The Logicians intend to mean that word-interpenetrated perception may be analysed into two elements, viz. (1) its
knowledge element and (2) its word-element. The knowledge-element represents perceptions. It is generated by the
sense-organ. If it illuminates its object aright then it is piece of valid perceptual knowledge. Again, if its word-element,
i.e., the designation of the above perception such as the apprehension of colour or that of taste is stressed upon then it
does not discharge the function of an apprehension (i.e., the words, e.g., the apprehension of colour etc., do not reveal
colour but simply signify an object). Thus, the word 'apprehension’ plays the role of an object. Hence, in the capacity of a
word, it is not at all, a piece of knowledge. Thus, there is no possibility of its being called a fifth type of valid knowledge,
i.e., a new species of valid knowledge.

Though, in some cases, the recollection of the name of an object is one of the conditions of determinate perception yet it is
not derived only from the knowledge of the word since the sense-organ plays the important role of a cause but the
remembrance of the name plays the subordinate part of an accessory condition like a lamp to the eye.



Now, if the hypothesis that determinate perception is sense-perception is thus proved then a new difficulty is to be faced
viz., indeterminate perception does not come within the province of perception.

On the other hand, some critics think that the so-called determinate perception is derived from the verbal testimony since
it is a piece of verbalized knowledge. Now, a retort to this critical remark is as follows:

If even some word-interpenetrated knowledge is proved to be sense-perception then there is no doubt that apprehension
which is absolutely free from the association with words is sense-perception.

The argument -“the recollection of the name of an object is one of the conditions of determinate perception yet it is not
derived only from the knowledge of the word” is aimed to prevent equivocation between which of the following two kinds
of cognitions?

(1) Sabda with Nirvikalpaka Pratyaksa

(2) Savikalpaka Pratyaksa with Upamana

(3) Savikalpaka Pratyaksa with sabda

(4) Nirvikalpaka Pratyaksa with Savikalpaka Pratyaksa
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(1) forfdfercucs Yrast w1 91 B ATA

(2) Sustiol &1 AfABCUD YeAagt D AT

(3) 9155 @I AfTBUD Yeagl A AT

(4) afrdcus yeasgt o1 fifdamcud geagt @ At
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2) Read the passage and answer the following question:-

The Logicians intend to mean that word-interpenetrated perception may be analysed into two elements, viz. (1) its
knowledge element and (2) its word-element. The knowledge-element represents perceptions. It is generated by the
sense-organ. If it illuminates its object aright then it is piece of valid perceptual knowledge. Again, if its word-element,
i.e., the designation of the above perception such as the apprehension of colour or that of taste is stressed upon then it
does not discharge the function of an apprehension (i.e., the words, e.g., the apprehension of colour etc., do not reveal
colour but simply signify an object). Thus, the word ‘apprehension’ plays the role of an object. Hence, in the capacity of a
word, it is not at all, a piece of knowledge. Thus, there is no possibility of its being called a fifth type of valid knowledge,
i.e., a new species of valid knowledge.

Though, in some cases, the recollection of the name of an object is one of the conditions of determinate perception yet it is
not derived only from the knowledge of the word since the sense-organ plays the important role of a cause but the
remembrance of the name plays the subordinate part of an accessory condition like a lamp to the eye.

Now, if the hypothesis that determinate perception is sense-perception is thus proved then a new difficulty is to be faced



viz., indeterminate perception does not come within the province of perception.

On the other hand, some critics think that the so-called determinate perception is derived from the verbal testimony since
it is a piece of verbalized knowledge. Now, a retort to this critical remark is as follows:

If even some word-interpenetrated knowledge is proved to be sense-perception then there is no doubt that apprehension
which is absolutely free from the association with words is sense-perception.

Which of the following statements form a part of the overall theme of the given passage?

A. Deliniating the domain of knowledge by perception

B. Whether perception is only ‘pure unverbalised seeing’

C. Whether perception should always have a determinate character
D. Whether perception is a valid source of knowledge

(1) A, B and D only (2) A, B and C only

(3) B and D only (4) B, C and D only
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A. Ycael SRI Silol @ 8X¢ @I aviol.

B. a=r yeagt daa ‘fagLg orec-2M3d sracliwel’ 3.

C. @11 yeel ol saon v forerifya Fareu dlo anfde.

D. @=11 gragt sirel @I de1 ) 3.

(1) @aa A, B iz D

(2) @aa A, B aiiz C

(3) @aa B siz D

(4) daa B, C iz D
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Correct Answer :-
e 1 [Option ID = 22955]

3) Read the passage and answer the following question:-

The Logicians intend to mean that word-interpenetrated perception may be analysed into two elements, viz. (1) its
knowledge element and (2) its word-element. The knowledge-element represents perceptions. It is generated by the
sense-organ. If it illuminates its object aright then it is piece of valid perceptual knowledge. Again, if its word-element,
i.e., the designation of the above perception such as the apprehension of colour or that of taste is stressed upon then it



does not discharge the function of an apprehension (i.e., the words, e.g., the apprehension of colour etc., do not reveal
colour but simply signify an object). Thus, the word 'apprehension’ plays the role of an object. Hence, in the capacity of a
word, it is not at all, a piece of knowledge. Thus, there is no possibility of its being called a fifth type of valid knowledge,
i.e., a new species of valid knowledge.

Though, in some cases, the recollection of the name of an object is one of the conditions of determinate perception yet it is
not derived only from the knowledge of the word since the sense-organ plays the important role of a cause but the
remembrance of the name plays the subordinate part of an accessory condition like a lamp to the eye.

Now, if the hypothesis that determinate perception is sense-perception is thus proved then a new difficulty is to be faced
viz., indeterminate perception does not come within the province of perception.

On the other hand, some critics think that the so-called determinate perception is derived from the verbal testimony since
it is a piece of verbalized knowledge. Now, a retort to this critical remark is as follows:

If even some word-interpenetrated knowledge is proved to be sense-perception then there is no doubt that apprehension
which is absolutely free from the association with words is sense-perception.

What according to the author of the passage is the most appropriate condition to be fulfilled for perceptual knowledge to be
deemed as valid?

(1) It is indeterminate in character

(2) It corresponds to the actual nature of the object thus revealed
(3) It is determinate in character

(4) It is both indeterminate and determinate in character
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4) Read the passage and answer the following question:-

The Logicians intend to mean that word-interpenetrated perception may be analysed into two elements, viz. (1) its
knowledge element and (2) its word-element. The knowledge-element represents perceptions. It is generated by the
sense-organ. If it illuminates its object aright then it is piece of valid perceptual knowledge. Again, if its word-element,
i.e., the designation of the above perception such as the apprehension of colour or that of taste is stressed upon then it
does not discharge the function of an apprehension (i.e., the words, e.g., the apprehension of colour etc., do not reveal
colour but simply signify an object). Thus, the word ‘apprehension’ plays the role of an object. Hence, in the capacity of a
word, it is not at all, a piece of knowledge. Thus, there is no possibility of its being called a fifth type of valid knowledge,



i.e., a new species of valid knowledge.

Though, in some cases, the recollection of the name of an object is one of the conditions of determinate perception yet it is
not derived only from the knowledge of the word since the sense-organ plays the important role of a cause but the
remembrance of the name plays the subordinate part of an accessory condition like a lamp to the eye.

Now, if the hypothesis that determinate perception is sense-perception is thus proved then a new difficulty is to be faced
viz., indeterminate perception does not come within the province of perception.

On the other hand, some critics think that the so-called determinate perception is derived from the verbal testimony since
it is a piece of verbalized knowledge. Now, a retort to this critical remark is as follows:

If even some word-interpenetrated knowledge is proved to be sense-perception then there is no doubt that apprehension
which is absolutely free from the association with words is sense-perception.

Which of the following statements is true with regard to the role of remembrance in knowledge according to the passage?

(1) Remembrance is an independent source of knowledge

(2) Remembrance of name gives a determinate character to perception

(3) Remembrance of name constitutes indeterminate character of all perception
(4) Remembrance of name is an invariable part of knowledge through similarity
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5) Read the passage and answer the following question:-

The Logicians intend to mean that word-interpenetrated perception may be analysed into two elements, viz. (1) its
knowledge element and (2) its word-element. The knowledge-element represents perceptions. It is generated by the
sense-organ. If it illuminates its object aright then it is piece of valid perceptual knowledge. Again, if its word-element,
i.e., the designation of the above perception such as the apprehension of colour or that of taste is stressed upon then it
does not discharge the function of an apprehension (i.e., the words, e.g., the apprehension of colour etc., do not reveal
colour but simply signify an object). Thus, the word 'apprehension’ plays the role of an object. Hence, in the capacity of a
word, it is not at all, a piece of knowledge. Thus, there is no possibility of its being called a fifth type of valid knowledge,
i.e., a new species of valid knowledge.

Though, in some cases, the recollection of the name of an object is one of the conditions of determinate perception yet it is



not derived only from the knowledge of the word since the sense-organ plays the important role of a cause but the
remembrance of the name plays the subordinate part of an accessory condition like a lamp to the eye.

Now, if the hypothesis that determinate perception is sense-perception is thus proved then a new difficulty is to be faced
viz., indeterminate perception does not come within the province of perception.

On the other hand, some critics think that the so-called determinate perception is derived from the verbal testimony since
it is a piece of verbalized knowledge. Now, a retort to this critical remark is as follows:

If even some word-interpenetrated knowledge is proved to be sense-perception then there is no doubt that apprehension
which is absolutely free from the association with words is sense-perception.

Which of the following statements most appropriately represents the position of the author of the passage regarding
perceptual knowledge?

(1) Author accepts only indeterminate cognition as perception

(2) Author accepts only determinate cognition as perception

(3) Author accepts both determinate and indeterminate cognition as perception

(4) Author makes no difference between perception and inference as sources of knowledge
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